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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of employees working in five different colleges A-E, alongwith
the ratio of Males to Females [M : F] among them. Based on the data in the table, answer the
questions that follow.

College-wise Details of Employees

College | Number of Employees| Ratio
M:F

A 3040 13:6

B 3360 4:3

C 2920 9:11

D 2760 10:13

E 2840 137

Sub questions

Question Number : 1 Question Id : 87827041364 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

What is the total number of male employees taking all the Colleges together ?

(1) 8120
(2) 8240
(3) 8360
(4) 8560
Options :

878270162441. 1
878270162442. 2
878270162443. 3

878270162444. 4

Question Number : 2 Question Id : 87827041365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the average number of female employees taking all the colleges together ?

(1) 1312
2) 1372
(3) 1336
(4) 1292
Options :

878270162445. 1
878270162446. 2
878270162447. 3

878270162448. 4

Question Number : 3 Question Id : 87827041366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

The number of male employees wotking in Colleges A and C together is approximately %
more than the number of female employees working in colleges B and D together.

(1) 9

(2) 15

(3) 11

4) 13

Options :
878270162449. 1
878270162450. 2
878270162451. 3

878270162452. 4

Question Number : 4 Question Id : 87827041367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of female employees working in College D to that in College E ?

(1) 7:4
(2) 780 : 497
(3) 390 : 491
(4) 9:5
Options :

878270162453. 1
878270162454. 2
878270162455. 3

878270162456. 4

Question Number : 5 Question Id : 87827041368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The number of employees working in College C is approximately % more than that in

College D.
() 8

(2) 6
3 4
(4 10
Options:

878270162457. 1
878270162458. 2
878270162459. 3
878270162460. 4

Question Id : 87827041363 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension
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A 3040 13:6
B 3360 1:3
C 2920 0:11
D 2760 10:13
P 2840 13:7

Sub questions

Question Number : 1 Question Id : 87827041364 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 8120
(2) 8240
(3) 8360
(4) 8560

Options :

878270162441. 1
878270162442. 2
878270162443. 3

878270162444. 4

Question Number : 2 Question Id : 87827041365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 1312
(2) 1372
(3) 1336
(4) 1292

Options:

878270162445. 1
878270162446. 2
878270162447. 3

878270162448. 4

Question Number : 3 Question Id : 87827041366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270162449. 1
878270162450. 2
878270162451.3

878270162452. 4

Question Number : 4 Question Id : 87827041367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1) 7:4

(2) 780 : 497
(3) 390 : 491
4 9:5
Options :

878270162453. 1
878270162454. 2
878270162455. 3

878270162456. 4

Question Number : 5 Question Id : 87827041368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270162457. 1
878270162458. 2
878270162459, 3

878270162460. 4
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Sub-Section Id : 8782701732
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Is Section Default?: null

Question Number : 6 Question Id : 87827041369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

An economics teacher wants to create an infographics to explajn supply and demand to her students.
Which of the fo]lowing tools would be most suitable ?

(I) Edpuzzle

(2) Canva

(3) Quizlet

(4) Mindmeister
Options :
878270162461. 1
878270162462. 2
878270162463. 3

878270162464. 4



Question Number : 6 Question Id : 87827041369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270162461. 1
878270162462. 2
878270162463. 3

878270162464. 4

Question Number : 7 Question Id : 87827041370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Norm referencing is used to interpret a score of an individual by comparing it
with those of other individuals.

Statement I :  Criterion referencing is used to interpret a person’s performance by comparing it
to some specified behavioural domain.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement I is correct

Options :



878270162465. 1
878270162466. 2
878270162467. 3

878270162468. 4

Question Number : 7 Question Id : 87827041370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T3 FA UM E

IR TS TR (W TRIET) 6 A forel SR o e < G AR o S A e
g e & foen o1 21

T T e (o YR 7 WA fore =t 3 e ) g9 o o
41 9 ) o B Foefer e fo e 21

TR B o ST H, il feu T fored A 9 W@ I 7

1) R SR B I e &

]

~

) R 1 %, Tl o I e

(
() 1SR FIR 1 T

(

(4) T ¢, Tl RO €

Options :

878270162465. 1
878270162466. 2
878270162467.3

878270162468. 4

Question Number : 8 Question Id : 87827041371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the elements of observational learning ?
(A) Production

(B) Attention

(C) Identification

(D) Retention

(E) Motivation

Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only

(2) (A)and (E) Only

(3) (A), (B), (D) and (E) Only
(4) (C) Only

Options :

8782701624609. 1
878270162470. 2
878270162471. 3
878270162472. 4

Question Number : 8 Question Id : 87827041371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162469. 1
878270162470. 2
878270162471.3

878270162472. 4

Question Number : 9 Question Id : 87827041372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In "VARK' model of learni_ng st}fles, ‘A" stands for

(I) Auspicious
(2) Augmentary
(3) Authentic
(4) Aural
Options :

878270162473. 1
878270162474. 2

878270162475. 3



878270162476. 4

Question Number : 9 Question Id : 87827041372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270162473. 1
878270162474. 2
878270162475. 3

878270162476. 4

Question Number : 10 Question Id : 87827041373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When a very bright light is incident on our eyes, we immediately close our eyelids.
This is an example of

(1)  Biological instincts

¥

(2)  Reflex actions
(3) Desired instincts
(4)

Intrapersonal instincts
Options :

878270162477. 1
878270162478. 2

878270162479. 3



878270162480. 4

Question Number : 10 Question Id : 87827041373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270162477. 1
878270162478. 2
878270162479. 3

878270162480. 4

Question Number : 11 Question Id : 87827041374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

[dentify the disadvantages of open ended questions in survey research.
(A) The questions do not suggest certain kinds of answer to respondents.
(B) They are time consuming for interviewers to administer.

(C) They require greater effort from respondents.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (4), (B) and (C)

Options :



878270162481. 1
878270162482. 2
878270162483. 3

878270162484. 4

Question Number : 11 Question Id : 87827041374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162481. 1
878270162482. 2
878270162483. 3

878270162484. 4

Question Number : 12 Question Id : 87827041375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In a reference written in APA style, arrange the information pertaining to the reference in correct
order.

(A) DOI number

(B) Volume number

(C) Name of author

(D) Title of the article

Choose the correct answer from the options given below :
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Options:

878270162485. 1
878270162486. 2
878270162487.3

878270162488. 4

Question Number : 12 Question Id : 87827041375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270162485. 1
878270162486. 2
878270162487. 3

878270162488. 4

Question Number : 13 Question Id : 87827041376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A research study is said to have heuristic value if :
(1) It leads to no further research

(2) It generates more research
(3) Its results lack consistency
(4)  Its results lack validity

Options :

878270162489. 1
878270162490. 2
878270162491. 3

878270162492. 4

Question Number : 13 Question Id : 87827041376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270162490. 2
878270162491. 3

878270162492. 4

Question Number : 14 Question Id : 87827041377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An entrance examination with objective type questions is conducted. For each correct answer, 1
mark is awarded and for each incorrect answer .25 marks are deducted. The number of marks
scored by candidates who appeared in the examination, is an example of :

(1) nominal variable

(2)  discrete variable

(3) ordinal variable

(4)  continuous variable

Options :

878270162493. 1

878270162494. 2

878270162495, 3

878270162496. 4

Question Number : 14 Question Id : 87827041377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270162493. 1
878270162494. 2
878270162495. 3

878270162496. 4

Question Number : 15 Question Id : 87827041378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ;  Medical research usua]ly involves pain or distress in animals.

Statement I1:  Psychological research is usually benign and may mvolve little, if any, discomfort
for the animals.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270162497. 1

878270162498. 2

878270162499. 3

878270162500. 4

Question Number : 15 Question Id : 87827041378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270162497. 1

878270162498. 2

878270162499. 3

878270162500. 4

Question Number : 16 Question Id : 87827041379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A photograph constitutes a/an :

(1

) Protective text
(2) Refined text
(3) Closed text
(4) Open text
Options :
878270162501. 1
878270162502. 2
878270162503. 3

878270162504. 4

Question Number : 16 Question Id : 87827041379 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162501. 1
878270162502. 2
878270162503. 3

878270162504. 4

Question Number : 17 Question Id : 87827041380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Buddhist concept of communication is marked by :
(1) Mono-causality

(2) Dyadic causality

(3) Multi-causality

(4) Skewed causality

Options:

878270162505. 1

878270162506. 2

878270162507. 3

878270162508. 4

Question Number : 17 Question Id : 87827041380 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270162505. 1
878270162506. 2
878270162507. 3

878270162508. 4

Question Number : 18 Question Id : 87827041381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

At present, cyber communication is a :
(1) Fictitious reality

(2) Palpable reality

(3) Futuristic reality

(4) Conventional reality
Options :

878270162509. 1
878270162510. 2
878270162511. 3

878270162512. 4

Question Number : 18 Question Id : 87827041381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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878270162509. 1
878270162510. 2
878270162511. 3

878270162512. 4

Question Number : 19 Question Id : 87827041382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main objectives of public policy sphere communication is to involve citizens in :
(A) Idea generation

(B) Policy critique

(C) Innovative policy practices

(D) Ignoring oppositional views

(E)  Promotion of stereotypes

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4)  (A), (D) and (E) Only

Options :

878270162513. 1
878270162514. 2
878270162515. 3

878270162516. 4



Question Number : 19 Question Id : 87827041382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270162513. 1
878270162514. 2
878270162515. 3
878270162516. 4

Question Number : 20 Question Id : 87827041383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [ ;  Western communication models examined the relaﬁonship among communicative
elements on an individual basis.

Statement Il ;  The Buddhst concept of communication emphasises the contextualisation of each
of the communicative elements.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement L is false but Statement Il is true
Options:

878270162517. 1

878270162518. 2

878270162519. 3

878270162520. 4

Question Number : 20 Question Id : 87827041383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162517. 1

878270162518. 2



878270162519. 3

878270162520. 4

Question Number : 21 Question Id : 87827041384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A man, a woman and a boy can do a piece of work in 6, 9 and 18 days, respectively. How many
boys should assist one man and one woman to do the work in one day ?

(1) 13
2 1
3 11
() 10
Options :

878270162521. 1
878270162522. 2
878270162523. 3

878270162524. 4

Question Number : 21 Question Id : 87827041384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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(1) 13
(2) 15
3) 1
4) 10
Options :

878270162521. 1

878270162522. 2



878270162523. 3

878270162524. 4

Question Number : 22 Question Id : 87827041385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A family consists of 6 members namely A, B, C, D, Eand F. B is the brother-in-law of C's mother.
Cis the father of F. Dis the father of Xandf is the grandson of D. There are two female members
in the family. Which of the following pairs represent the female members in the family ?

Aand D

Options :

878270162525. 1
878270162526. 2
878270162527.3

878270162528. 4

Question Number : 22 Question Id : 87827041385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :



878270162525. 1
878270162526. 2
878270162527. 3

878270162528. 4

Question Number : 23 Question Id : 87827041386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
15,5108 18,275,489, %, .

(1) 48.5
(2} 2258
(3) 625
(4) 725
Options :

878270162529. 1
878270162530. 2
878270162531. 3

878270162532. 4

Question Number : 23 Question Id : 87827041386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T T T Ffe S A & gEen § wwaras: fag i ufrenf 9w gee
15,5, 105, 18, 275,39, 2. .,

(1) 485
(2) 525
(3) 625
4) 725



878270162529. 1
878270162530. 2
878270162531. 3

878270162532. 4

Question Number : 24 Question Id : 87827041387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child is looking for his father. He goes 100 meter towards east and then turns to his right and
goes 30 meters. From there the child again turns to his right and goes for 40 meters. Where he
finds his father at his uncle’s place. How far is his uncle’s place from the starting point of the
child ?

(1) 3045 meter
(2) 40 meter

(3) 4045 meter
(4) 30410 meter
Options :
878270162533. 1
878270162534. 2
878270162535. 3

878270162536. 4

Question Number : 24 Question Id : 87827041387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 305 e

(2) 40"

B) 405 T
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Options:

878270162533. 1
878270162534. 2
878270162535. 3
878270162536. 4

Question Number : 25 Question Id : 87827041388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language :

(a) 1000 ie. 10° is coded as 1331

(b) 125i.e.5%is coded as 216

How 729 will be coded in that language ?

(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270162537. 1
878270162538. 2
878270162539. 3
878270162540. 4



Question Number : 25 Question Id : 87827041388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
gfe fordl e W o :
(a) 1000 21T 10° &1 1331 % ®9 H FHfeq fomam 701 ©
(b) 125 1eifd 5° F1 216 F &9 H Ffeq foFan 7 €

dl 39 9T H 729 k1 Y Hied fopan smam ?
(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270162537. 1
878270162538. 2
878270162539. 3

878270162540. 4

Question Number : 26 Question Id : 87827041389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are contradictory to each other ?
(A) All plants are fungi

(B) No plants are fungi

(C) Some plants are not fungi

(D) Some plants are fungi

Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (A)and (B) Only
(3) (C) and (D) Only
(4) (A) and (D) Only

Options :



878270162541. 1
878270162542. 2
878270162543. 3

878270162544. 4

Question Number : 26 Question Id : 87827041389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270162541 1
878270162542. 2
878270162543. 3

878270162544. 4

Question Number : 27 Question Id : 87827041390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[f the statement - “All trucks are po]lul‘ing vehicles” is given as false, then which of the follnwing
statements can be immediately inferred to be true ?

(I) Some trucks are polluting vehicles.

(2) Some trucks are not polluting vehicles.
(3)  No trucks are polluting vehicles.
(.

=y

) No polluting vehicles are trucks.

Options:

878270162545. 1
878270162546. 2
878270162547. 3
878270162548. 4

Question Number : 27 Question Id : 87827041390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270162545. 1
878270162546. 2
878270162547. 3

878270162548. 4

Question Number : 28 Question Id : 87827041391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following statements is equivalent to the statement - “Some philosophers are not
idealists.”?

(I) Some philosophers are not non-idealists.

(2)  No idealists are philosophers.

(3)  Some non-idealists are not philosophers.

(4)  Some non-idealists are not non-philosophers.
Options :

878270162549. 1

878270162550. 2

878270162551. 3

878270162552. 4

Question Number : 28 Question Id : 87827041391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162549. 1

878270162550. 2

878270162551. 3

878270162552. 4

Question Number : 29 Question Id : 87827041392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which fallacy is involved in the following statement “Indian pharmaceutical companies are
p‘ro[itabl& therefore, average Indian pharmaceutical company is pmfitable"?

(I) Fallacy of Division

2

Hasty Generalisation

2
(3)  Slippery Slope
()

4)  Fallacy of Accident

Options :

878270162553. 1
878270162554. 2
878270162555. 3

878270162556. 4

Question Number : 29 Question Id : 87827041392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270162553. 1
878270162554. 2
878270162555. 3

878270162556. 4

Question Number : 30 Question Id : 87827041393 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The Aristotelian syllogism is only inductive and formal.
Statement 11 : N}f:iya sy]logism is deductive - inductive and formal-material.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement 1 is true but Statement II is false
(4)  Statement I is false but Statement II is true
Options :

878270162557. 1

878270162558. 2

878270162559. 3

878270162560. 4

Question Number : 30 Question Id : 87827041393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270162558. 2
878270162559. 3

878270162560. 4

Question Number : 31 Question Id : 87827041394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An advantage to a business that uses Intranet capabilities is that it allows employees to share the
business's information with

(1) Customers.

2

(3)  Competitors
g

Each other.

Former employees,

Options :

878270162561. 1
878270162562. 2
878270162563. 3

878270162564. 4

Question Number : 31 Question Id : 87827041394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270162561. 1
878270162562. 2
878270162563. 3

878270162564. 4

Question Number : 32 Question Id : 87827041395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following MS-EXCEL screenshot that shows the product code, name of the state
which produced the product and Quality of the product :

A B C D

1 |ProductCode| State |Quality

2 Al HP A

3 A2 MP A

4 A3 UP A

5 Ad UpP B

b A5 upP B

7

Which of the following EXCEL formulae can be typed in Cell D1 to answer the question : How
many different product codes form UP are of Grade “A” quality ?

A, = COUNTIFS (B2:Be, “=UP", C2:C6,"=A")

B. = COUNTIFS (C2:Co, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP”, C2:C6, “A")

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

(4) (A) (B) and (C)

Options :
878270162565. 1

878270162566. 2



878270162567. 3
878270162568. 4

Question Number : 32 Question Id : 87827041395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 A3 WP [ A

5 Ad UP | B
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7
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A. = COUNTIFS (B2B6, "=UP", C2C6,"=A")

B. = COUNTIFS (C2:C6, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP", C2:C6, “A")

A fou T fosredl @ B Wl SR 1 T Fi

(1) % (A) 3T (B)
Q) @ (A) 3 (C)
() A (B) % (C)
(@) () @) (C)
Options :
878270162565. 1
878270162566. 2

878270162567. 3



878270162568. 4

Question Number : 33 Question Id : 87827041396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  'Disk defragmentation’ makes files that are contiguous in a disk as fragmented.

Statement I1: A device controller that controls a device will deal with the operating system
through device driver.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are true

2)  Both Statement I and Statement I are false

3

4) Statement | is false but Statement Il is true

(
(3) Statement I is true but Statement II is false
(

Options :

878270162569. 1

878270162570. 2

878270162571. 3

878270162572. 4

Question Number : 33 Question Id : 87827041396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270162569. 1

878270162570. 2

878270162571. 3

878270162572. 4

Question Number : 34 Question Id : 87827041397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding Artificial Intelligence (AI) is/are correct ?

(A) Al systems can be used in email spam filters,

(B) Al systems are capable of analyzing uncertain information.

(C) An Al system is a system for capturing, storing, processing and displaying data related to
positions on earth’s surface.

Choose the correct answer from the options given below :

() (4)Only

(2) (A)and (B) Only

(3) (A) and (C) Only

(4) (B) and (C) Only

Options :

878270162573. 1



878270162574. 2
878270162575. 3

878270162576. 4

Question Number : 34 Question Id : 87827041397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162573. 1
878270162574. 2
878270162575. 3

878270162576. 4

Question Number : 35 Question Id : 87827041398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following features are available in word processing software such as MS-WORD ?
(A) Spell checker and Thesaurus

(B) Page Orientation

(C) Mail Merge

(D) Slide Transitions

Choose the correct answer from the options given below :

(1) (A), (B)and (D) Only

(2) (A)and (C)Only
(3) (B) and (C) Only
(4) (A), (B) and (C) Only

Options:

878270162577. 1
878270162578. 2
878270162579. 3
878270162580. 4

Question Number : 35 Question Id : 87827041398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270162577. 1
878270162578. 2
878270162579. 3

878270162580. 4

Question Number : 36 Question Id : 87827041399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not caused by polluted water ?
(1) Cholera
(2) Dysentery
(3) Typhoid
)

(4) Tuberculosis

Options :

878270162581. 1
878270162582. 2
878270162583. 3

878270162584. 4

Question Number : 36 Question Id : 87827041399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) &0

(2) sfeaR/afE
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(4) aufcer
Options :

878270162581. 1



878270162582. 2
878270162583. 3

878270162584. 4

Question Number : 37 Question Id : 87827041400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I Toxic chemicals often injure human organs and organ systems.
Statement I1:  Toxicants that damage kidneys are called as Hepatotoxic.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270162585. 1

878270162586. 2

878270162587. 3

878270162588. 4

Question Number : 37 Question Id : 87827041400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270162585. 1

878270162586. 2

878270162587. 3

878270162588. 4

Question Number : 38 Question Id : 87827041401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing are related to ‘source reduction’ in inhegrated solid waste management ?

A)  Reduced Toxicity
B) Composting

) Landhll
E) More durable products

(

(

(C) Less Packaging
(D

(

Choose the correct answer from the options given below :
(1) (4) (8)and (C) Only
(2) (A), (C) and (E) Only
(3) (B), (C) and (D) Only
® (), (D)and (E) Only

Options :

878270162589. 1



878270162590. 2
878270162591. 3

878270162592. 4

Question Number : 38 Question Id : 87827041401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162589. 1
878270162590. 2
878270162591. 3
878270162592. 4

Question Number : 39 Question Id : 87827041402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Depletion of stratospheric ozone results into

(A) Increase in the ultraviolet radiation

(B) Increase in infra-red radiation

(C) Increase in skin cancer

(D) Significant impact on terrestrial flora and fauna
(E) Decrease in cataract cases

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2) (A), (C) and (D) Only

3) (B), (©), (D) and (E) Only

(4) (A), (B) and (C) Only

Options:
878270162593. 1
878270162594. 2

878270162595. 3
878270162596. 4

Question Number : 39 Question Id : 87827041402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Hee g SSTH o Ffaaemtor (&) =1 999 81 ©
(A) e farferwor # gfg

(B) 3TeEd fafetu # dfg

(C) = FmH gfg

(D) Treira seafadi 31 Sia sigefi W Ayl guE
(E) wifaanfeg o el § Hl

A1 few T fomredi # § W& IO H =TI I ;
(1) 9 (A), (B), (C) 3R (D)

(2) F=d (A), (O) ¥R (D)

(3) %4 (B), (O), (D) 3R (E)

(4) %9 (A), (B) 3 (C)

Options :

878270162593. 1
878270162594. 2
878270162595. 3
878270162596. 4

Question Number : 40 Question Id : 87827041403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Nitrous Oxide (N,O).

(A) causes acid rain

(B) islaughing gas

(C) 1is carcinogenic

(D) is a green house gas

(E) is a criterion air pollutant
Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

() (O, (D) and (E) Only

(3) (B) and (D) Only

(4) (A) and (E) Only

Options:
878270162597. 1
878270162598. 2

878270162599. 3
878270162600. 4

Question Number : 40 Question Id : 87827041403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



egH ARTES (NyO)

(A) =Tg IO 1 FEF T |

(B) feiT i (ZHH Ael 1) ¥

(C) FHEHF (FRFEASIAR) T

(D) WrE=g e

(E) T Hah agugua & |

A= feu 7o fasredi § € 9 39 &1 994 S
(1) = (A), (D) 3R (E)

(2) 9 (C), (D) ¥R (E)
(3) A (B) &R (D)
(4) A (A) 3R (E)
Options :

878270162597. 1
878270162598. 2
878270162599. 3
878270162600. 4

Question Number : 41 Question Id : 87827041404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Michael Sadler commission was constituted to study the problems of :
(1) Bombay University

(2) Madras University
(3) Poona University
(4) Calcutta University

Options :

878270162601. 1
878270162602. 2
878270162603. 3
878270162604. 4



Question Number : 41 Question Id : 87827041404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WEehel TEeR AR 1 T forqent guenat 1 7o 0 & fau farm mn a2

(1) il favafaeme
(2) e fovefaemed
(3) T fevefararea
(4) Serr fagafeaaed
Options :

878270162601. 1
878270162602. 2
878270162603. 3
878270162604. 4

Question Number : 42 Question Id : 87827041405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 1986 recommended the establishment of _in the country.
(I) Community colleges

(2)  Open universities

(3) National universities of eminence

(4)  Discipline-wise universities

Options:

878270162605. 1
878270162606. 2
878270162607. 3
878270162608. 4



Question Number : 42 Question Id : 87827041405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
et foner Hifa, 1986 = <1 T forgert o= T fawif &1 off ?
(1) HIHeIEes Helfa=ed

) He favafeaered

(3) U™ Scpreal favafaere™
) Taug-anr feavafasrem

Options :

878270162605. 1

878270162606. 2

878270162607. 3

878270162608. 4

Question Number : 43 Question Id : 87827041406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ :  Curzon's uniuersit_\F reforms reflected the official attitude towards the spread of
higher education in [ndia.

Statement Il :  There was no resistance to the Indian universities Bill piloted by Curzon from
any section of Indians,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are true
2)  Both Statement I and Statement I are false

(
(3)  Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

8782701626009. 1



878270162610. 2
878270162611. 3

878270162612. 4

Question Number : 43 Question Id : 87827041406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162609. 1
878270162610. 2
878270162611. 3
878270162612. 4

Question Number : 44 Question Id : 87827041407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Ancient thinkers) (Area of study)
(A) Panini ()  Astronomy
(B) Jivaka (II) Grammar
(C) Bhaskara (IIT) Medicine
(D) Kanada (IV) Physics

Choose the correct answer from the options given below :
(1) (A)-(IL), (B)~(1D), (C)-(I), (D)-(IV)

(2)  (A)-(ID, (B)-(D), (O)(I), (D)-(IV)

(3) (A1), (B)-(l1), (C)-(I), (D)-(IV)

(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)

Options :

878270162613. 1

878270162614. 2

878270162615. 3

878270162616. 4

Question Number : 44 Question Id : 87827041407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
Ti-1 -1

(e faemes ) ( ITT &)
(A) rforE ) Ea-fasm
(B) i@k (I) AR
(C) Wr=RY (I11) Tafshem
(D) TS (IV) Hifaerame

= feu v fasredi § § 98 I F1 =94 S
(1) (A)(I), (B)-(1D), (O)-(I), (D)-(IV)

(2)  (A)-(ID), (B)-(1), (O)-(I), (D)-(IV)
(3) (A1), (B)-(D), (©O)-{), (D)-(IV)
4) (A1, (B)-(1V), (O-(1), (D)-(I1)

Options :

878270162613. 1
878270162614. 2
878270162615. 3

878270162616. 4

Question Number : 45 Question Id : 87827041408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - I

(Name of University) (Year of Establishment)
(A) Bombay University (I) 1916
(B) Delhi University (II) 1943
(C) Utkal University (Im) 1922

-,

(D) SN.D.T. Women University (IV) 1857

Choose the correct answer from the options g'wen below :

(1) (A)-(V), (B)-(IL), (C)-(ID), (D)-(I)
(2) (A1), (B)-(IV), (C)(1D), (D)-(0)
(3)  (A)-(IV), (B)-(I), (C)-(1), (D)-(IT)
(4)  (A)-(), (BI-(II), (C)-IV), (D)-(0)
Options :

878270162617. 1
878270162618. 2
878270162619. 3

878270162620. 4

Question Number : 45 Question Id : 87827041408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 G-I = e sife
ﬁ?ﬁ.l -11

( favafaemer & m) ( FRITOET oY )
(A) dirl favaforme (I) 1916
(B) feoeht favafammem (I) 1943
(C) Ichd Tavaia=med (1) 1922

(D) TH.UAELE. Hfgen fagafaemem (IV) 1857
= feu U fomredi § ¥ W& I N =999 HIfGT
(1) (A)-(IV), (B)-(IIL), (C)-(ID), (D)-(I)

(2)  (A)-(I), (B)-(IV), (C)-(1I), (D)-(D)

() (A)-(IV), (B)-(I), (O)-(T), (D)-(I)

(4) (A=), (B)-(11), (©)-(1V), (D)-(I)
Options :

878270162617. 1
878270162618. 2
878270162619. 3
878270162620. 4

Sub-Section Number : 3
Sub-Section Id : 8782701733
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827041409 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer the questions that follow :

Science and the techniques to which it has given rise have changed human life during the
last hundred and fifty years more than it had been changed since men took to agriculture, and the
changes that are being wrought by science continue at an increasing speed. There is no sign of any
new stability to be attained on some scientific plateau. On the contrary, there is every reason to
think that the revolutionary possibilities of science extend immeasurably beyond what has so far
been realised. Can the human race adjust itself quickly enough to these vertiginous transformations,
or will it, as innumerable former species have done, perish from lack of adaptability? The dinosaurs
were, in their day, the lords of creation, and if there had been philosophers among them, not one
would have foreseen that the whole race might perish. But they became extinct because they
could not adapt themselves to a world without swamps. In the case of man and science there is a
wholly new factor, namely that man himself is creating the changes of environment to which he
will have to adjust himself with unprecedented rapidity. But, although man through his scientific
skill is the cause of the changes of environment, most of these changes are not willed by human
beings. Although they come about through human agencies, they have, or at any rate have had so
far, something of the inexorable inevitability of natural forces. Whether Nature dried up the swamps
or men deliberately drained them, makes little difference as regards the ultimate result. Whether
men will be able to survive the changes of environment that their own skill has brought about is an
open question. If the answer is in the affirmative, it will be known some day; if not, not. If the
answer is o be in the affirmative, men will have to apply scientific ways of thinking to themselves
and their institutions.

Sub questions

Question Number : 46 Question Id : 87827041410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Dinosaurs became extinct because of :
(I) A massive earthquake
) Incessant rainfall
(3) Extreme cold
) Lack of adaptability
Options :
878270162621. 1
878270162622. 2
878270162623. 3

878270162624. 4



Question Number : 47 Question Id : 87827041411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the scientific age who is responsible for the changing environment ?

(1) Nature

(2) Man

(3) Natural Disasters
(4) Wars
Options :

878270162625. 1
878270162626. 2
878270162627. 3
878270162628. 4

Question Number : 48 Question Id : 87827041412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main focus of the passage is on :
(1) Extinchion of Species

(2) Extinction of Dinosaurs

(3) Science and Human life

(4) Destruction of Forests

Options :

878270162629. 1

878270162630. 2

878270162631. 3

878270162632. 4

Question Number : 49 Question Id : 87827041413 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i

“If the answer is in the affirmative .......... refers to the question related to :
(1) Changes in environment
(2)

(3) Human extinction

(4)

B!

Human survival

Changes in scientific approach
Options :

878270162633. 1

878270162634. 2

878270162635. 3

878270162636. 4

Question Number : 50 Question Id : 87827041414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
According to the passage the following are true :
A) Science is bringing about rapid changes.
B) There is every likelihood that a scientific plateau will be reached.

D) There are chances that mankind may become extinct due to lack of adaptability.

(
(
(C) Man will definitely perish like the Dinosaurs,
(
(

E) Changes in the environment made through human agencies have so far shown almost the
same inexorable inevitability as that of natural forces in the past.

Choose the correct answer from the options given below :
(I) (A), (D) and (E) Only

) (4),(8)and (E) Only

(3) (A) and (E) Only

(4) (B), (C) and (E) Only

Options :

878270162637. 1

878270162638. 2



878270162639. 3

878270162640. 4

Question Id : 87827041409 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827041410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) 99 Y&y

(2) R aui

(3) =RW/aATAfaE i

(4)  FTIFHAAEA HT FHHI
Options:

878270162621. 1
878270162622. 2
878270162623. 3
878270162624. 4

Question Number : 47 Question Id : 87827041411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 7 H waterer WiadA % fau #e SweEr € 2

(1) ¥

(2) HAIR/HTTE

(3) WM AT

(4) 95
Options:

878270162625. 1
878270162626. 2
878270162627. 3

878270162628. 4

Question Number : 48 Question Id : 87827041412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TS <1 A e g fRa R ?
(1)  wsiicri A1 fereqw iRt

(2) EEAERT 1 e
(3) Taam &R wFa SfeA
(4) = = foAma

Options:

878270162629. 1
878270162630. 2
878270162631. 3
878270162632. 4

Question Number : 49 Question Id : 87827041413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) 9FieRT ¥ qftEd

(2) TS ST

(3) WM faqwiew

(4) T T H gREd
Options :

878270162633. 1
878270162634. 2
878270162635. 3
878270162636. 4

Question Number : 50 Question Id : 87827041414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270162637. 1
878270162638. 2
878270162639. 3

878270162640. 4

Mass Communication and Journalism

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

878270947
2

Online
Mandatory
92

92

200

Yes



Sub-Section Number : 1

Sub-Section Id : 8782701734
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 87827041415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A mathematical procedure used to adjust data from a sample to meet the characteristics of a given
population is known as
(I) Measuring

(2) Triggering
(3)  Weighting
(4) Sampling
Options :

878270162641. 1
878270162642. 2
878270162643. 3

878270162644. 4

Question Number : 51 Question Id : 87827041415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T e T He o faforeared o g e  fo ofeed (dve) ¥ 2o g & fou
s f A A e A gm 2?

(1) W

(2) e (fefe)
(3) o (afém)
(4) e

Options:



878270162641. 1
878270162642. 2
878270162643. 3

878270162644. 4

Question Number : 52 Question Id : 87827041416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Which section of IT Act 2000 was quashed by the supreme court of India ?

(1) 65 A
(2) 64 A
(3) 668
(4) 66 A
Options :

878270162645. 1
878270162646. 2
878270162647. 3

878270162648. 4

Question Number : 52 Question Id : 87827041416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o WA (S 2) sl 2000 1 7 W W 9 4R 91 9 % Halea 2w gu e fo
a7

() 65A

(2) 64A
(3) 66B
(4) 66 A
Options :

878270162645. 1



878270162646. 2
878270162647. 3

878270162648. 4

Question Number : 53 Question Id : 87827041417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

To ensure observance and adherence to the programme code and the advertising code by the
broadcasters, Cable Television Networks (Amendment) rules, 2001 provides for a three-level
structure. Which one of the following is not a part of that structure ?

(I)  Seli-Regulation by broadcasters

(2)  Oversight mechanism by the central government

(3) Self-regulation by the self-regulating bodies of the broadcasters

(4)  Selt censorship by the broadcasters

Options :

878270162649. 1

878270162650. 2

878270162651. 3

878270162652. 4

Question Number : 53 Question Id : 87827041417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270162649. 1
878270162650. 2
878270162651. 3
878270162652. 4

Question Number : 54 Question Id : 87827041418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the name of Facebook's ra_nking algm‘ithm ?
(1) Like rank

(2) Face rank

(3) Page rank

(4) Edge rank

Options :

878270162653. 1

878270162654, 2

878270162655. 3

878270162656. 4

Question Number : 54 Question Id : 87827041418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FHEF I AhT TSNS 1 &1 W € 7
(1) ©eF &

(2) wHF

(3) U

4) TIE

Options :



878270162653. 1
878270162654. 2
878270162655. 3

878270162656. 4

Question Number : 55 Question Id : 87827041419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Made In India” belongs to
(1) Javed Akhtar

(2) Lucky Ali

(3) Alisha Chinnoy

(4) Daler Mehndi

Options :

878270162657. 1
878270162658. 2
878270162659. 3

878270162660. 4

Question Number : 55 Question Id : 87827041419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘g = sfem’ e = | 4 T 87
(1) SEg 3TER

(2) TR STel

(3) feren oA

(4) <o HeEd

Options :

878270162657. 1



878270162658. 2
878270162659. 3

878270162660. 4

Question Number : 56 Question Id : 87827041420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who 1s the director of the film ‘Birth of a Nation” ?

(1) D.W. Griffith

(2) Fellini

(3) Copalla

(4) Hitchcock
Options :

878270162661. 1
878270162662. 2
878270162663. 3

878270162664. 4

Question Number : 56 Question Id : 87827041420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘ad &fiE T v’ fren & e 9 €2
(1) 2. ==y frftry

(2) Rferl

(3)  hIdTe

(4) Te=rRi®
Options:

878270162661. 1

878270162662. 2



878270162663. 3

878270162664. 4

Question Number : 57 Question Id : 87827041421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The rejection of a null-Hypothesis leads to the acceptance of a -
(1) Alternative Hypothesis

(2) Two-tailed Hypothesis

(3)  One-tailed Hypothesis

1)

(4) Positive Hypothesis

Options :

878270162665. 1
878270162666. 2
878270162667. 3

878270162668. 4

Question Number : 57 Question Id : 87827041421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
frreRTofts wreRRea T it stEeRfa | ft W | fopwant wiepfa 2t 87
(1) oehfedeh WTeRkedH

(2) T5-9=3 yereReaH

(3) THEA-YED W

(4) HHRNIHSF JTFhcql

Options :

878270162665. 1

878270162666. 2

878270162667. 3



878270162668. 4

Question Number : 58 Question Id : 87827041422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The normal hearing frequency range of a healthy young person is about
(1) 30 to 30,000 Hz

(2) 20 to 20,000 Hz

(3) 20 to 200 Hz

(4) 30 to 300 Hz

Options :

878270162669. 1

878270162670. 2

878270162671. 3

878270162672. 4

Question Number : 58 Question Id : 87827041422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
ek T a1 Al 1 G 990 TEta fe 5 | wmepn fra 8 g 2
(1) 30 ¥ 30,000 Hz

2) 20 ¥ 20,000 Hz

3) 209200 Hz
)

d

4) 30 9300 Hz

(
(
(
Options :

878270162669. 1
878270162670. 2
878270162671. 3

878270162672. 4



Question Number : 59 Question Id : 87827041423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

One time Chief of Shivsena, Bala Saheb Thakre worked as a cartoonist for which English daily
newspaper ?

(1)  Free Press Journal

(2) The Hindu

(3) Maratha

(4) Bombay Times
Options :
878270162673. 1
878270162674. 2
878270162675. 3

878270162676. 4

Question Number : 59 Question Id : 87827041423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

1 T T a1 HTedl 2 A o6 S < TWaR T R & €9 ¥ i foha 7
W T

Options:

878270162673. 1
878270162674. 2
878270162675. 3

878270162676. 4



Question Number : 60 Question Id : 87827041424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Constituent Assembly of India had its first sitting on |
(1) 9% December 1947

(2) 9t December 1946

(3) 19" December 1931

(4) 19" December 1945

Options :

878270162677. 1

878270162678. 2

878270162679. 3

878270162680. 4

Question Number : 60 Question Id : 87827041424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ORe 1 WlaET o 7 9o ok A § § f fafy wgd o ?
(1) 9 fegey, 1947

(2) 9 feHe¥, 1946
(3) 19 feHsR, 1931
(4) 19 fSHR, 1945
Options:

878270162677. 1
878270162678. 2
878270162679. 3

878270162680. 4



Question Number : 61 Question Id : 87827041425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Term ‘Telecommunity can be found in the Book of
(1) Robin’s K

2
3

4

(2) David Holmes
(3) Toffler Alvin
(4)  Sherry Turkle
Options:
878270162681. 1
878270162682. 2
878270162683. 3

878270162684. 4

Question Number : 61 Question Id : 87827041425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘g gHeE’ ue A § | foRmet q%as H 9rg S Gl © 2

(1) e

(2) efaearw
(3) =R Tfed
(4) I Zha
Options :

878270162681. 1
878270162682. 2
878270162683. 3

878270162684. 4

Question Number : 62 Question Id : 87827041426 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Equality before Law and the Equal protection of the Law” mentioned in the Article
of Indian Constitution,

) Article - 18

) Article - 14
3)  Article - 20

) Article - 15
Options :
878270162685. 1
878270162686. 2
878270162687. 3

878270162688. 4

Question Number : 62 Question Id : 87827041426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

W SfaT % 76 8§ T o § R o e W 3 A T W 3

(
Q) ofR- 14
() oHR- 20
(4) - 15
Options:

878270162685. 1
878270162686. 2
878270162687. 3

878270162688. 4

Question Number : 63 Question Id : 87827041427 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which year Marshal McLuhan published 'Understanding media’, an influential work that states
that when it comes to media effects, the medium is the message :

(1) 1954

(2) 1964

(3) 1974

(4) 1988
Options :
878270162689. 1
878270162690. 2
878270162691. 3

878270162692. 4

Question Number : 63 Question Id : 87827041427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
NIt Mg 1 el i * sreweefen wifear’, wa el g of o o T o o o it
VTG %1 9 T & e R wea g
(1) 1954
(2) 1964
(3) 1974
(4) 1988
Options:
878270162689. 1
878270162690. 2
878270162691. 3

878270162692. 4

Question Number : 64 Question Id : 87827041428 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Web TV, the first major convergence of the television and internet industries, is launched in

1) 19%

(

(2) 1997
(3) 1998
(4) 1999
Options :

878270162693. 1
878270162694. 2
878270162695. 3

878270162696. 4

Question Number : 64 Question Id : 87827041428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

EAlferSt o 3ete TENT o1 GYW H@ ACE, od 31 ol 1 AN ke fofa a7

(1) 1996
(2) 1997
(3) 1998
(4) 1999
Options:

878270162693. 1
878270162694. 2
878270162695. 3

878270162696. 4

Question Number : 65 Question Id : 87827041429 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When did AIR launch a unique innovative programme ‘Azadi Ka Safar Akashvani Ke Saath’ ?
(1) 15 ;—\uguslr 2021

(2) 16 August, 2021

(3) 15 August, 2022

(4) 16 August, 2022

Options :

878270162697. 1

878270162698. 2

878270162699. 3

878270162700. 4

Question Number : 65 Question Id : 87827041429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el 3 Med 7 O Sl Tl HsRH * ATSE) o W S o e e SR o o
) 15 &, 2021
) 16 &, 2021
) 15 &, 2022
) 16 3T, 2022

Options :

878270162697. 1
878270162698. 2
878270162699. 3

878270162700. 4

Question Number : 66 Question Id : 87827041430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

In which year When did the publication of first Vernacular Newspaper began ?

(1) 1817
(2) 1820
(3) 1821
(4) 1822
Options :

878270162701. 1
878270162702. 2
878270162703. 3

878270162704. 4

Question Number : 66 Question Id : 87827041430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fore 9 T YRATT IS GHTER 951 oh1 TohR9H I8 g3 7

(1) 1817
(2) 1820
(3) 1821
(4) 1822
Options :

878270162701. 1
878270162702. 2
878270162703. 3

878270162704. 4

Question Number : 67 Question Id : 87827041431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the theme for world press freedom day in the year 2023 ?
(1)  Journalism without fear or favour

@

(3) Shaping a future of Rights : Freedom of expression as a driver for all other human rights
)

Journalism under Digital Siege

Women and intellectual property : Accelerating innovation and creativity
Options:

878270162705. 1

878270162706. 2

878270162707. 3

878270162708. 4

Question Number : 67 Question Id : 87827041431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

favd 49 @ oo, 4 2003 1 foama # %2

) S G e TR

) fefveei Sued) & A TR
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Options :

878270162705. 1

878270162706. 2

878270162707. 3
878270162708. 4

Question Number : 68 Question Id : 87827041432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



While recm‘diﬂg viewership details BAR-O-METERS captures

(1) Watermarked channels

(2) Non-watermarked channels only
(3) Both water marked and non-watermarked channels
(4) Top 10 channels only in different genre

Options:

878270162709. 1
878270162710. 2
878270162711.3

878270162712. 4

Question Number : 68 Question Id : 87827041432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
<9k G feeron stfuferfigs s w9 ar-sh-wiet f= § § 1 v €72
(1) ifepa <e
(2) I TR SR =
(3) eiferd 9 IR etiferd 99 SH
(4) fafy= fauneli & Seat 78 watea 99a
Options :
878270162709. 1
878270162710. 2
878270162711. 3

878270162712. 4

Question Number : 69 Question Id : 87827041433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is punchline of F.M. Channel Radio Mirchi ?
(1) Itis Hot

(2) Bajate Raho

(3) Thodi Tikhi

(4) Thodi Meethi

Options:

878270162713. 1

878270162714. 2

878270162715. 3

878270162716. 4

Question Number : 69 Question Id : 87827041433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

UF U = deal o= &1 9= ogd 1§ ?

() 32ssEle

(2) wTd @I

(3) et e

(4) oSt et
Options :

878270162713. 1
878270162714. 2
878270162715. 3

878270162716. 4

Question Number : 70 Question Id : 87827041434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which type of advertising is “point of sale” ?
(1) Mobile Advertising
(2

) Direct Advertising
(3) Transport Advertising

=

(4) Window Display Advertising
Options:

878270162717. 1

878270162718. 2

878270162719. 3

878270162720. 4

Question Number : 70 Question Id : 87827041434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
o yerr o1 fasmoe ‘wrEe orw A’ (faswg-fag) §72
(1) = (HEEd) fa=mE

(2) dcget fasmoH

(3) afEET fame

(4) ey feret fagmE
Options :

878270162717. 1
878270162718. 2
878270162719. 3
878270162720. 4

Question Number : 71 Question Id : 87827041435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The information society extends the industrial logic of _
(1) Fordism

(2) Hostism

(3) Apitism

(4) Captism
Options:

878270162721. 1
878270162722. 2
878270162723. 3

878270162724. 4

Question Number : 71 Question Id : 87827041435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= A iR o7 U o i ook o faega © 7

(1) ThifeH
(2) ®ifEn
(3) @HiEsH
(4) HftesH
Options :

878270162721. 1
878270162722. 2
878270162723. 3

878270162724. 4

Question Number : 72 Question Id : 87827041436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Ferdinand de Saussure, ‘Parole” refers to
(1)  The system of language, the rules and conventions that mgjamze it
( Individual use of language
(3) Social use of language
(4) The system of meaning making
Options:
878270162725. 1
878270162726. 2
878270162727.3

878270162728. 4

Question Number : 72 Question Id : 87827041436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
wfEdE g HER % AR W F o e 8 § fFaet oin 872
(1) w197 Joredt X 3 =Hafed i o fFam 9 wWod

(2) T o orAfETR FE

(3)  WTST T WHITSIR FART

(4) 31 TAHIO1 KT gomed
Options :

878270162725. 1
878270162726. 2
878270162727.3
878270162728. 4

Question Number : 73 Question Id : 87827041437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who is the singer in the patriotic song “Watan" produced b}f Doordarshan to mark the occasion of
Independence Day - 2019 ?

(1) Javed Ali

(2) Hariharan

(3) Kailash Kher

(4) Shankar Mahadevan
Options:
878270162729. 1
878270162730. 2
878270162731. 3

878270162732. 4

Question Number : 73 Question Id : 87827041437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Tl T~ 2019 2 et R ETev B e o 70 e e <ot i 1 feferfied o 9
fope T 7

Options :

878270162729. 1
878270162730. 2
878270162731. 3
878270162732.4

Question Number : 74 Question Id : 87827041438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which sampling is designed to select elements from a population in order to make statical inferences
about the populalion ?

(I) Snowball Sampling

(2

(3)  Convenience Sampling
(4)

}

Random Samp]jng

Voluntary Sampling
Options :
878270162733. 1
878270162734. 2
878270162735. 3

878270162736. 4

Question Number : 74 Question Id : 87827041438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
e % R 4 wifer o (Fe) R & f sen 3 w6 e w0 & o e
fcere 2 fesii fove 7 87

Options :

878270162733. 1
878270162734. 2
878270162735. 3

878270162736. 4

Question Number : 75 Question Id : 87827041439 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which satellite is used for Broadcasting The ‘SITE" Project of television ?
(1) MT5-5

(2) AT5-6
(3) UTS5-5
4 MT5-6

Options :

878270162737. 1
878270162738. 2
878270162739. 3
878270162740. 4

Question Number : 75 Question Id : 87827041439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ZoAifas ot 92 YRS # THRU 8] YgH SWE ©

(1) MT5-5
(2) AT5-6
(3 UT5-5
(4) MT5-6

Options :

878270162737. 1
878270162738. 2
878270162739. 3

878270162740. 4

Question Number : 76 Question Id : 87827041440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The office of the Registrar of Newspaper of India (RNI) came into being by amending :
(1)  The Newspaper (Price and Pages) Act, 1956

(2)  The press (Objectionable Matters) Act, 1951
(3)  Delivery of books and Newspapers (Public Libraries) Act, 1954
(4) The press and Registration of Book Act, 1867

Options:

878270162741. 1
878270162742. 2
878270162743. 3

878270162744. 4

Question Number : 76 Question Id : 87827041440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TerH G T o TR YR o GHIER O YN (S U S) % i e o
(1) HHER (T T ) A, 1956

(2) 9 (el we) Sufam, 1951

(3) 7% U6 TR B b o (el () i, 1954

(4) 9 T T i 6 G, 1867

Options :

878270162741. 1
878270162742. 2
878270162743. 3

878270162744. 4

Question Number : 77 Question Id : 87827041441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Copying of another words and works without providing proper attribution.
(I) Complere plagiarism
2)  Varbation plagiarism

{
(3) Paraphrasing plagiarism
(4)

Misleading attribution
Options:

878270162745. 1
878270162746. 2
878270162747. 3

878270162748. 4

Question Number : 77 Question Id : 87827041441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
3f=d 471 feu fam g8 o wes] 1Rl i Tohel A FEaal & —
(1) g wifefers Ak

(2) eayl: |ifefeask T
(3) Enfefers = =t ==
(4) YR Y

Options :

878270162745. 1
878270162746. 2
878270162747.3

878270162748. 4

Question Number : 78 Question Id : 87827041442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Popping means :
(1) Recreation of already recorded sound

(2)  Audio obstruction because of faulty mike
(3)  Brief statement detailing the situation of a Radio Station in the market
(4)  When audio recording is done beforehand

Options:

878270162749. 1
878270162750. 2
878270162751.3

878270162752. 4

Question Number : 78 Question Id : 87827041442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

it = 379f = € ?

(1) veat § e &1 g8 =+ TR 9 g1 S|

) HEH H EE A SH 9 AT H TR &A1 S

(3) Wrhe H TRl ed wyE # feafa siar aren Sisra s |
) e HATfEd T8l | & TS Y foran Sian € |

Options :

878270162749. 1

878270162750. 2

878270162751. 3

878270162752. 4

Question Number : 79 Question Id : 87827041443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the final stage in Maslow’s hierarch}f of needs ?
(1) Love and belonging

(2) [Esteem

(3) Safety

(4) Self-actualization

Options:

878270162753. 1

878270162754. 2

878270162755. 3

878270162756. 4

Question Number : 79 Question Id : 87827041443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

el 1 STEvaehd Gasfl qeaafaer] s 21y sTemer shig-4t € ?
(1) 9% U4 Gayd

(2) ATHF A

(3) W&

(4) =ea-fafg
Options :

878270162753. 1
878270162754. 2
878270162755. 3
878270162756. 4

Question Number : 80 Question Id : 87827041444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Aristotle believed communication consisted of three elements : Ethos, Logns and Pathos. What
does he mean by "Ethos’ ?

(I) The nature or qualities of the communicator

(2)  The nature, structure and content of the message

(3)  The nature, feelings and thought of the receiver or audience
(.

=y

) The nature and quality of the context

Options:

878270162757. 1
878270162758. 2
878270162759. 3

878270162760. 4

Question Number : 80 Question Id : 87827041444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

a7t 1 fovara o fop i, <9 ol (o) e o 2 €
TR, (91), T (), 0 T (Y0 | e (Sor) § 3 At 2
(1) Y9 1 el Ao e

() HeH iy, e v fowg-ag

(3) TR Y A1 F T@E (W) Yl w6 R

(4) o 1 T T

Options :

878270162757. 1

878270162758. 2

878270162759. 3

878270162760. 4

Question Number : 81 Question Id : 87827041445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Al-powered paraphrasing tool helps to rewrite, edit and change the tone of their text to improve
clarity is called -

()  Quill bot
2)  Litmaps
5)  Elicit
)

(
(@
(4) Paper pal

1
Options :

878270162761. 1
878270162762. 2
878270162763. 3

878270162764. 4

Question Number : 81 Question Id : 87827041445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

T B () e SRSRfe 2ot T 8 R o ¥ o 9 e o e 1 o A fere, e
Wﬁlwffqﬁf{m%:

Options :

878270162761. 1
878270162762. 2
878270162763. 3

878270162764. 4

Question Number : 82 Question Id : 87827041446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"First voice last word’ is the punchline uses by :
(1) The Hindu

(2) Indian Express

(3) Hindustan Times

(4) The Times of India

Options :

878270162765. 1

878270162766. 2

878270162767. 3

878270162768. 4

Question Number : 82 Question Id : 87827041446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘'w dieg o 92 M YEeR o YA foREeE g1 BT § 7
(1) <feg

Options :

878270162765. 1
878270162766. 2
878270162767.3

878270162768. 4

Question Number : 83 Question Id : 87827041447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The ‘viral coder’ is a form of
(1) Cyber Laws

(2) Cybernating

(3) Cyber Crime

(4) Cyber Security

Options :

878270162769. 1

878270162770. 2

878270162771. 3

878270162772. 4

Question Number : 83 Question Id : 87827041447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘are Fret’ feaE TE N T 7

(1) EIEsR-=hr]d
(2) ErEE-HAfET
(3) HIEEI-39Y
(4) ETEE-gad
Options :

878270162769. 1
878270162770. 2
878270162771.3

878270162772. 4

Question Number : 84 Question Id : 87827041448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per the CBFC data, in which of the last financial years, the number of films and short films
[ndia was the minimum ?

1) 202-2
Q) 21-2
3) 2020-2
(4) 2019-20

]

Options:

878270162773. 1
878270162774. 2
878270162775.3

878270162776. 4

Question Number : 84 Question Id : 87827041448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o v o 3 afr o o i o oot o for o o oyl el el e fove ) e W
w

1) 2022-23

() 2021-2
(3) 2020-21
(4) 2019-20

,.._.‘_
e

PSP e

Options :

878270162773. 1
878270162774. 2
878270162775.3
878270162776. 4

Question Number : 85 Question Id : 87827041449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Syndication means

(1) a programme which can be purchased

(2) ajingle of the station played between two programmes
(3) commercial announcement

(4) programmes dispatched on user’s network

Options:

878270162777.1
878270162778. 2
878270162779. 3

878270162780. 4

Question Number : 85 Question Id : 87827041449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Syndication e 2

(1) U Frsky 59 =lie 1 9ear ¢ |

(2) T & & S S Rl o St o g S g
(3)  Ff ST

(4) WENTERGIS 3 FEEEh 1 S MU FHAHH |

Options :

878270162777. 1

878270162778. 2

878270162779. 3

878270162780. 4

Question Number : 86 Question Id : 87827041450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Internet was the project of agency.
(1) Internet

(2) NASA

(3) RUSA

(4) Arpanet
Options:

878270162781. 1
878270162782. 2
878270162783. 3

878270162784. 4

Question Number : 86 Question Id : 87827041450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gete form USiHT (vt =i afeErse ot ?

(1) 3z
(2) ArE
(3) ¥ (INFTHQ)
(4) ade
Options :

878270162781. 1
878270162782. 2
878270162783. 3

878270162784. 4

Question Number : 87 Question Id : 87827041451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who is the first Radio Broadcaster in the world ?

(1) Lee. Dee. Forest
(2) George Davis

(3) E.O. Neil

(4) Gugliyo Markoni
Options:

878270162785. 1
878270162786. 2
878270162787. 3
878270162788. 4

Question Number : 87 Question Id : 87827041451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gfan =1 yeen e afgsney ol Far 9@ € -
(1) . & "=
(2) Sl Sfam
(3) S E &L A
(4) T HRERTE!
Options :

878270162785. 1
878270162786. 2
878270162787. 3
878270162788. 4

Question Number : 88 Question Id : 87827041452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



An absolute or true zero point is used in the :
(1) Norminal scale

(2) Ordinal scale

(3) Interval scale

(4) Ratio scale

Options:

878270162789. 1

878270162790. 2

878270162791. 3

878270162792. 4

Question Number : 88 Question Id : 87827041452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ue FRUe s1an arafas = fag o1 v fead S e 2

(1) A 99T
(2) SFAYTE YA
(3) ST YHAT

(4) ST SHET

Options :

878270162789. 1
878270162790. 2
878270162791. 3
878270162792. 4

Question Number : 89 Question Id : 87827041453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per Press Council Act, how many members from working journalists were nominated on the
press council as a member ?

1) 25

2 11
(3 13
g

]

4 09

Options:
878270162793. 1
878270162794. 2

878270162795. 3

878270162796. 4

Question Number : 89 Question Id : 87827041453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

g it s o o fe o fore et R @) S vt 3 wew & w9 4 A fr s

&7
(1) 25
2 1
(3) 13
(4) 09
Options :
878270162793. 1
878270162794. 2
878270162795. 3

878270162796. 4

Question Number : 90 Question Id : 87827041454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of these is not a barrier to communication ?
(1) Personal Barriers

(2) Financial Barriers

(3) Language Barriers

(4) Cultural Barriers
Options:

878270162797. 1
878270162798. 2
878270162799. 3

878270162800. 4

Question Number : 90 Question Id : 87827041454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

=TH § i SU90 § 911 T8 © 7
(1) oferer (i) aramd
(2) ol s

—

3) T Sre
(4) WIEFITR M
Options :
878270162797. 1
878270162798. 2
878270162799. 3
878270162800. 4

Question Number : 91 Question Id : 87827041455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hypothesis is
(A) Predictive statement of assumption or supposition to be proved or disproved by statistical
means.

(B) Where population parameters are available, hypothesis testing is used in that case for deciding
whether a sample data support the problem statement,

(C) It does not help to guide some investigation or highly probable established facts.

(D) Hypothesis testing helps to prepare probability statements about population parameters.

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (B)and (C) Only

(3) (C) and (D) Only

(4) (A)and (D) Only

Options :

878270162801. 1

878270162802. 2

878270162803. 3

878270162804. 4

Question Number : 91 Question Id : 87827041455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR € —

(A) T T 5 T e STl 21 ATl 0 AR e SR ] e Fo

(B) I Holth FIGS 3o g 1 feerf W 7% oo o o ferw, fo e ol <21 e o
T S €, TR e 3 WA o o R

(C) ol sia arerem sreaforsh wonfar wenfire qeai &1 WieyH Wer: T 2 €

(D) TR e § FAGE] o H TRl e TR 0 W S e &

1 few T ol W 9 e S 1 T A

Options :

878270162801. 1
878270162802. 2
878270162803. 3
878270162804. 4

Question Number : 92 Question Id : 87827041456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[denlify the basic i_ngredients n 111a_rkeljng mix of four Ps.

(A) Public

(B) Place

(C) Promotion
(D) Price

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (O, (D) and (E) Only
(4) (B), (C) and (E) Only



Options :

878270162805. 1
878270162806. 2
878270162807. 3
878270162808. 4

Question Number : 92 Question Id : 87827041456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

N ISt (Ps) a1t faqur fago1 & qeayd oo (1a9d) &1 gedr Hig ;

(A) Tfsc®

(B) @

(C) HEH

(D) WrEH

= fou o fasredi o @ W@ IO =TI FHIGU

(1) 3 (A), (B) 3R ()

(2) %= (B), (C) 3R (D)

(3) ¥ (O), (D) R

(4) 5@ (B), (C) ¥R (E)
Options:
878270162805. 1
878270162806. 2
878270162807. 3

878270162808. 4

Question Number : 93 Question Id : 87827041457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are the component of Hall’s encoding/decoding model ?
(A) Acknowledge of society
(B) Frameworks of knowledge

(C) Messages for Audiences
(D) Technical Infrastructure

Choose the correct answer from the options given below :
(1) (B), (), (D) Only

(2) (B), (D), (E) Only

3)  (A), (B), (C) Only

(4) (O, (D), (E) Only

Options:

878270162809. 1

878270162810. 2

878270162811. 3

878270162812. 4

Question Number : 93 Question Id : 87827041457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
=8 ¥ i &% Fe/fagad uied & T92F FH & ?
(A) WIS - WiFfd
(B) MM - =BI= (UTEY)
(C) <Sieni/draned gq Hew
(D) TAHI (3cEA) o HaY
(E) RN ST
= feu o foepedi # § T& IO 1 =999 i
(1) = (B), (O), (D)
(2) 4 (B), (D), (E)
(3) A (A), (B), (O
(4) %@ (C), (D), (B)



Options :

878270162809. 1
878270162810. 2
878270162811. 3

878270162812. 4

Question Number : 94 Question Id : 87827041458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The disadvantage of Aristotle Model of communication are
(A) Weak encoding

(B) Audience created content

(C) Omne-way communication

(D) Stress on the speaker

(E) Ignorance of noise

Choose the correct answer from the options given below :
(1) (A), (), (C) Only

() (), (C), (D) Only

(3) (), (D) (E) Only

@ (O, () (E) Only

r

Options:

878270162813. 1
878270162814. 2
878270162815. 3
878270162816. 4

Question Number : 94 Question Id : 87827041458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HaR (Hiw) e sweq Hied w afE §
(A) FHSIR (TUE) Fe

(B) 4rdi/esier giwd fawg—awq

(C) T - feuita domm

(D) dedl W g

(E) ¥ & SyAiY=am

A feu T ferpedi ® 9 @& ST 1 =94 S
(1) %= (A), (B), (O)

(2) %ad (B), (C), (D)

(3) %4 (B), (D), (E)

4) % (), (D), (E)

Options :

878270162813. 1
878270162814. 2
878270162815. 3
878270162816. 4

Question Number : 95 Question Id : 87827041459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tabloid Newspapers are :
(A) Mail today

(B) Jan Morcha

(C) Mid-day

(D) Evening News

(E) Samachar Jagat
Choose the correct answer from the options given below :
(1) (A), (B), (O) Only
() (A), ©, (D) Only
(3) (B), (D), (E) Only
(4) (B), (O (D) Only

Options:
878270162817. 1
878270162818. 2

878270162819. 3

878270162820. 4

Question Number : 95 Question Id : 87827041459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



= o 9 scige gu=ER-I9 § ¢
(A) "I

(B) S ==l

(C) fre-=2

(D) =S =S

(E) HHMEN S

A feu T ferpedi ® 9 @& ST 1 =94 S
(1) &= (A), (B), (O)

(2) 9 (A), (©), (D)

(3) = (B), (D), (E)

(4) &= (B), (C), (D)

Options :

878270162817. 1
878270162818. 2
878270162819. 3

878270162820. 4

Question Number : 96 Question Id : 87827041460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following is a purely media journal ?
(A) Communicator

(B) Vidura

(C) Samvad path

(D) Gaveshana

(E) Mekal Mimansha

Choose the correct answer from the options given below :
(1) (A), (B), (D) Only

(2 (A), (B), () Only

(3) (B), (C), (D) Only

(4) (O, (D), (E) Only

Options:
878270162821. 1
878270162822. 2

878270162823. 3
878270162824. 4

Question Number : 96 Question Id : 87827041460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e F & #-91 faug w9 § tifew sHa £ 2
(A) FHFTHRS

B) forgy

(C) HdE9Y

(D) e

(E) Hehet HIHMET

A feu T ferpedi ® 9 @& ST 1 =94 S
(1) %9 (A), (B), (D)

(2) A (A), (B), (C)

(3) a9 (B), (C), (D)

4) % (), (D), (E)

Options :

878270162821. 1
878270162822. 2
878270162823. 3

878270162824. 4

Question Number : 97 Question Id : 87827041461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hindi language news agencies are
(A) UNI

(B) UNIVARATA

(C) HINDUSTAN SAMACHAR
(D) SAMACHAR BHARTI

(£} PITI

Choose the correct answer from the options given below :
(1) (A), (E), (B) Only

(2) (B), (C), (D) Only

(3) (©), (D), (E) Only

4) (A), (B), (C) Only

Options:

878270162825. 1
878270162826. 2
878270162827.3

878270162828. 4

Question Number : 97 Question Id : 87827041461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fe=sr vy o dare gfufaai €
(A) 7T 3

(B) FfFardi

(C) Tegram 9=

(D) EHER 9l

(E) <t e

= feu U fasredi § 9 W SO 1 999 FIf9
(1) = (A), (B), (B)
(2) =@ (B), (O), (D)
(3) = (C), (D), (E)
(4) A (A), (B), (O

Options :

878270162825. 1
878270162826. 2
878270162827.3
878270162828. 4

Question Number : 98 Question Id : 87827041462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Castells, which determines the internet culture.
(A) Virtual communication

(B) Hacker culture

(C) Techno-merito cratic culture

(D) Free lancers

(E) Global media leaders

Choose the correct answer from the options given below :
(1) (A), (O), (E) Only

(2) (A), (B), (C) Only

(3) (B), (C), (D) Only

(4) (O, (D), (E) Only

Options:
878270162829. 1
878270162830. 2

878270162831. 3
878270162832. 4

Question Number : 98 Question Id : 87827041462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FIETH ¥ SER T Tphy ) F 1 § a3 fauifa w9 €2
(A)  STYET HYo

(B) THR WEHd

(C) deFtfer—graan (WfEskfes) Herfd

(D) dT TIFR (HIEAE)

(E) afvask wifean =@

A feu U forpedl ® 9 T SOR &1 =44 Hii
(1) *=d (A), (O) (E)

(2) FE (A), (B), (O)

(3) a4 (B), (O), (D)

(4) &9 (C), (D), (E)

Options :

878270162829. 1
878270162830. 2
878270162831. 3
878270162832. 4

Question Number : 99 Question Id : 87827041463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



All India radio taken under control of the follawmg stations on 1 April, 1950 thE}r are :

(A) Aurangabad
(B) Goa

(C) Trivandram
(D) Mysore

(E) Jammu

Choose the correct answer from the Dpliuns given below :

(1) (A), (B)and (C) Only

(2) (A), (C) and (D) Only
(3) (B), (C) and (D) Only
(4) (C), (D) and (E) Only

Options:

878270162833. 1
878270162834. 2
878270162835. 3

878270162836. 4

Question Number : 99 Question Id : 87827041463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



aniet =fen Wea 3 f ©yEl 1 1 18 1950 &1 2194 fg3o o fomn .
(A) SITETR

(E) w9
A feu 7u ferredi # 9 W& FAT 1 =T HIOT
(1) = (A), (B) ¥R (C)
(2) e (A), (C) ¥R (D)
(3) e (B), (C) 3R (D)
(4) Fa9 (C), (D) 3 (E)

Options :

878270162833. 1
878270162834. 2
878270162835. 3
878270162836. 4

Question Number : 100 Question Id : 87827041464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following persons has not won an Academy Award ?
Aamir Khan

(A)

(B) Bhanu Athaiya
(C) M.M. Keeravani
(D) Satyajit Ray

(E) Ritwik Ghatak

Choose the correct answer from the ﬂpllDI‘lb gwen below :

T

() (A), (B) and (C) Only
(2) (B), (©) and (D) Only
3) (A), (D) and (B) Only
(4) (A) and (E) Only

Options:

878270162837. 1
878270162838. 2
878270162839. 3

878270162840. 4

Question Number : 100 Question Id : 87827041464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafad fra safae (A7) ¥ sErRH OeFR 8 e faan &2
(A) 3R @A

(B) T S

(C) UH. TH. HIEmM

(D) GeHsid ¥

(E) Tk ==k

== fou o foredi § | W 39 1 =999 e
(1) e (A), (B) ¥R (Q)

(2) 9 (E), (C) 3R (D)

(3) A (A), (D) ¥R (B)

(4) A (A) 3R (E)

Options :

878270162837. 1
878270162838. 2
878270162839. 3
878270162840. 4

Question Number : 101 Question Id : 87827041465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following journalists are associated with Investigation Journalism ?
(A) Sucheta Dalal
(B) Navika Kumar
(C) Danish Siddique
(D) Tarun Tejpal

(E) Rini Khanna

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A) and (D) Only

(3) (C), (D) and (E) Only

(4) (B) and (D) Only

Options:
878270162841. 1
878270162842. 2

878270162843. 3

878270162844. 4

Question Number : 101 Question Id : 87827041465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafEa § 9 $H-8 IR Ersi 9FHid § gaiyd 8 2
(A) G T

(B) ekt FHR

(C) e fadie

(D) &I qSUrA

(E) T &=

A feu Ty ferpedi ® 9 @& ST 1 =94 S
(1) % (A), (B) &R ()

(2) A (A) 3R (D)

(3) %9 (C), (D) ¥R (E)

(4) A (B) 3R (D)

Options :

878270162841. 1
878270162842. 2
878270162843. 3

878270162844. 4

Question Number : 102 Question Id : 87827041466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are related to print media ?
(A) Embargo

(B) Press Line

(C) Name Line

(D) Date Line

(E) Achering

Choose the correct answer from the options given below :
(1) (B), (C) and (D) Only

(2) (B), (E) and (C) Only

(3) (A), (B) and (D) Only

(4) (E), (D) and (B) Only

Options:
878270162845. 1
878270162846. 2

878270162847. 3
878270162848. 4

Question Number : 102 Question Id : 87827041466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefefea = fie e & gafaa ¥2
(A) =

(B) UL

(C) AW

(D) fafergan

(E) Teerm

A feu T ferpedi ® 9 @& ST 1 =9I HIf
(1) %9 (B), (C) &R (D)

(2) %9 (B), (E) 3R (O)

(3) 4w (A), (B) R (D)

(4) %9 (E), (D) 3N (B)

Options :

878270162845. 1
878270162846. 2
878270162847.3

878270162848. 4

Question Number : 103 Question Id : 87827041467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct in the context of Broadcasting Analysis (ANOVA) ?
A) Broadcasting analysis is used where free distribution in groups prevails at present.

B) Broadcasting analysis is used where variance in groups is homogeneous.

(
(
(C)  One necessary condition for Broadcasting analysis is heterogeneous variance in groups.
(D) Different effects of independent variables on dependent variables are determined.

(E)

Joint effect of mdependent variable is determined.

Choose the correct answer from the options given below :
() () (8)and (C) Only

(2) (B), (C) and (D) Only

3) (A), (D) and (E) Only

(4) (C), (D) and (E) Only

Options:

878270162849. 1

878270162850. 2

878270162851. 3

878270162852. 4

Question Number : 103 Question Id : 87827041467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR feern (ANOVA) % e # faetfefas & 4 91 oA wét €7

(A) ST e a1 ST e ST €, e e e fe (free distribution ) T Tl 1

(B) SR et 1 ST e e ST & el S o e (variance) §FSTA (heterogeneous )
i

(C) SR forgedeoT o ST 1 O SV Wi 7 ¢ (o R 1 feler fermrstdid (heterogeneous)
il

(D) 4% = (dependent variable) W % = (independent variables ) % & ST J4TH #
fafe o €|

(6) faife = & o o & faeifes foren o €1

%ﬁqmﬁm‘iﬁ@uﬁmwwﬁm:

(1)

@

()

() w

Options:

878270162849. 1

878270162850. 2

878270162851. 3

878270162852. 4

Question Number : 104 Question Id : 87827041468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are important aspects of pre production in video production ?
(A) Script writing

(B) Editing

(C) Location scouting

(D) Lighting set up

(E) Mixing

Choose the correct answer from the options given below :

(1) (B), (D) and (E) Only

(2) (A), (C) and (D) Only
3) (C), (A) and (D) Only
(4) (D), (B) and (A) Only
Options :

878270162853. 1
878270162854. 2
878270162855. 3

878270162856. 4

Question Number : 104 Question Id : 87827041468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



difest fmmr & frafafes § 9 %6 yd-3amea F meayu T8d €2
(A) YA TIEA

(B) HureA

(C) FIH @ISl

(D) msfer W2y (YRS SHaeen)

(E) Taferem

A feu e foeredl § 9 Wl ST @1 =g S
(1) e (B), (D) 31 (E)

(2) e (A), (C) 3R (D)

(3) A (C), (A) 3 (D)

(4) &I (D), (B) 3N (A)

Options :

878270162853. 1
878270162854. 2
878270162855. 3
878270162856. 4

Question Number : 105 Question Id : 87827041469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Correctly match days which are related to Media ?
(A) National Cartoonist day - 20 May

(B) World Social Media day - 30 June

(C) National Television day - 21 November

(D) National Cinema day - 20 June

(E) World Hollywood day - 24 September
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (O) and (D) Only

(3) (B), (C) and (E) Only

(4) (C), (D) and (E) Only

Options:
878270162857. 1
878270162858. 2

878270162859. 3

878270162860. 4

Question Number : 105 Question Id : 87827041469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hifeaqr § Hafa ¥el €71 4 gufed fgaw € —
(A) T T foo - 20 7

(B) fava wrvrer wifean feaw - 30 A

(C) forva eeiifasH foord - 21 Ferat

(D) U= g+ fead - 20 A

(E) Tfava wiciige fod - 24 fadaw

= feu U fasredi § 9 W SO 1 999 FIf9
(1) = (A), (B) 3R (Q)

(2) Fa (B), (C) ¥R (D)

(3) = (B), (O) ¥R (E)

(4) FFa (O), (D) ¥R (E)

Options :

878270162857. 1
878270162858. 2
878270162859. 3
878270162860. 4

Question Number : 106 Question Id : 87827041470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who are the members of Second Press Commission constituted under the chairmanship of

Shri KK. Mathew ?
(A) Justice Shishir Kumar Banerjee
(B) P.H. Patvardhan

(C) . Natrajan

(D) KR. Ganeshan

(E) HK. Paranjpe

Choose the correct answer from the oplions gi\f en below :

() (B), (D)and (E) Only

(2) (A), (B) and (C) Only
3) (C), D) and (E) Only
(4) (A), (D) and (E) Only
Options:

878270162861. 1
878270162862. 2
878270162863. 3

878270162864. 4

Question Number : 106 Question Id : 87827041470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT 4 % o Teg 1 sremer ¥ nfeq fdE W oM F TeEm w ¥
(A) =refd FafR 8RR ot

(B) W.TH. yEEHH

(C) S FTH

(D) k.3, TUIYH

(E) T, YUSM

= feu o fawedl § | W& IO & =999 T
1) 3 (B), (D) N (E)

2) ad (A), (B) R (Q)

3) % (C), (D)

4) F9d (A), (D)

(
(
( 4R (E
( $ (E)
Options :

878270162861. 1
878270162862. 2
878270162863. 3

878270162864. 4

Question Number : 107 Question Id : 87827041471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which Newpapers, are edited by Madan Mohan Malviya ?
(A) Abhyudaya

(B) Rashtra Dharma

(C) Swadesh

(D) Maryada

(E) Kisan

Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

(2) (A), (D) and (E) Only

(3) (A), (B) and (C) Only

(4) (C), (D) and (E) Only

Options:
878270162865. 1
878270162866. 2

878270162867. 3
878270162868. 4

Question Number : 107 Question Id : 87827041471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEHed Hredg gil duifed TO=m 93 €

(A) I

(B) e

(C) T

(D) wAwEl

E) fram

A feu Ty ferpedi ® 9 @& ST 1 =94 S
(1) % (A), (B) &R (E)

(2) ed (A), (D) SR (E)

(3) A (A), (B) R (C)

(4) % (O), (D) ¥R (E)

Options :

878270162865. 1
878270162866. 2
878270162867. 3
878270162868. 4

Question Number : 108 Question Id : 87827041472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who among the following are scholars in the area of Development Communication ?
(A) Daya Thussu
(B) Daniel Lerner
(C) Arving Singhal
(D) David Oglvy
(E) Evert Rogers
Choose the correct answer from the options given below :

(1) (A), (B) and (E) Only

(2) (B), (C) and (E) Only
(3) (C), (D) and (E) Only
(4) (A), (D) and (E) Only

Options:

878270162869. 1
878270162870. 2
878270162871. 3
878270162872. 4

Question Number : 108 Question Id : 87827041472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafes SA-4 fagr fome-—H=r % &5 9 Hdfid €2

(A) <4y
(B) EfFHTa @R
(C) eRfeeg foud
(D) Efae s
(E) T IS

A feu Ty ferpedi ® 9 @& ST 1 =94 S
(1) % (A), (B) &R (E)
(2) ¥ (B), (O) &R (E)
(3) %9 (C), (D) ¥R (E)
(4) F (A), (D) R (E)

Options :

878270162869. 1
878270162870. 2
878270162871. 3

878270162872. 4

Question Number : 109 Question Id : 87827041473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Function of OTT platform is :
(A) TVOD (Transactional Video On Demand)

(B) PVOD (Public Video On Demand)

(C) SVOD (Subscription Video On Demand)

(D) AVOD (Advertising Video On Demand)

(E) COVD (Computer Video On Demand)

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A), (C) and (D) Only

(3) (B), (C€) and (D) Only

(4) (C), (D) and (E) Only

Options:

878270162873. 1
878270162874. 2
878270162875. 3

878270162876. 4

Question Number : 109 Question Id : 87827041473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FAEE ©REH (HH) 1 GHed §

(A) F S (AN AT Hegeer W Sifedr)
(B) Ut &t Tt € (Wi enenfia |resiek Sifean)
(C) THE a1 I (W s FeaiFer sifer)
(D) Wt 3l € (| s famreA Sifean)
(E) i =ff 311 21 (Wi aniiid seget Sifedn)
A1 few T fomredi # § W& IO H =TI HIC ;
(1) = (A), (B) 3R (O)

(2) e (A), (C) 3R (D)

(3) = (B), (C) 3R (D)

(4) FaA (O), (D) R (E)

Options :

878270162873. 1
878270162874. 2
878270162875. 3

878270162876. 4

Question Number : 110 Question Id : 87827041474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Surrogate advertising is commonly used for indirectly promoting :
(A) Health life style products

(B) Charitable event tickets

(C) Alcohol

(D) Educational program

(E) Tobacco products

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B), (D) and (A) Only

(3) (C) and (E) Only

4) (A), (D) and (C) Only

Options:
878270162877. 1
878270162878. 2

878270162879. 3

878270162880. 4

Question Number : 110 Question Id : 87827041474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TARTE fagmam =1 W arrreE feges s veR v foban s § 2
(A) A vl % 3%

(B) WY AT (IeHd)

(C) oHehred

(D) WeforeR ShIhH

(E) daTE SIS

T fou o fasredl § 9 Q& SO &1 9949 FIfSU
(1) 9 (A) 3R (B)

(2) Fad (B), (D) ST (A)

(3) Fa (C) R (E)

(4) &= (A), (D) &R (O)

Options :

878270162877. 1
878270162878. 2
878270162879. 3
878270162880. 4

Question Number : 111 Question Id : 87827041475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the main components of Public Relations ?

(A) Publicity

(B) Financial Management

(C) Community Relations

(D) Inventory Management

(E) General Administration

Choose the correct answer from the options given below :

(1) (B), (C) and (E) Only

(2) (C), (D) and (E) Only
(3) (D), (E) and (A) Only
4) (A)and (C) Only
Options:

878270162881. 1
878270162882. 2
878270162883. 3

878270162884. 4

Question Number : 111 Question Id : 87827041475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SH-HT% F TIE T T2F HE-H € 2
(A) WER (=)

(B) Toria wei®1 (=gareen)

(C) WTgeTTeF Hay

(D) 9= yaEH

(E) HH= JYmEH

= feu U fasredi § 9 W SO 1 999 FIf9
(1) %= (B), (O) ¥R (E)

(2) 9 (Q), (D) ¥R (E)

(3) = (D), (E) TR (A)

(4) A (A) 3R (C)

Options :

878270162881. 1
878270162882. 2
878270162883. 3

878270162884. 4

Question Number : 112 Question Id : 87827041476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Advantages of stratified sampling :

(A) Knowledge of the population prior to selection is required.
(B) Sampling error is reduced.

(C) Variables that define strata may not be relevant.
(D) Selection is made from a homogenerous group.

(E) Representativeness of relevant variables is ensured.
Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (B), (C) and (D) Only

(3) (D), (E) and (A) Only

(4) (B), (D) and (E) Only

Options:
878270162885. 1
878270162886. 2

878270162887. 3
878270162888. 4

Question Number : 112 Question Id : 87827041476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i Fia=a- o oY ©

(A) TT9-%F & TTEEAT F TN H AR Hl STavFhal el @ |
(B) wfereras Afe | &t o7t T

(C) & =S &R H IR d € o WrEiTn el 8l 9o |
(D) ot T e 9 =eA e s #

(E) WMk =R o1 gfdfHearershal

A= feu 7o fasredi § € 9 39 &1 994 S

(1) = (A), (B) R (D)

(2) Fa (B), (C) ¥R (D)

(3) ad (D), (E) 3R (A)

(4) I (B), (D) 3R (E)

Options :

878270162885. 1
878270162886. 2
878270162887. 3

878270162888. 4

Question Number : 113 Question Id : 87827041477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Among these who are the most influential Media tycoons in the World ?
Steven Spilberg

(A)

(B) David Barday

(C) John Hopkins

(D) Michael Bloomberg
(E) Richard Attenbarough

Choose the correct answer from the nplmns gwen below :

(1) (A), (B) and (E) Only
(2) (A), (D) and (E) Only
(3) (A), (B) and (C) Only
4) (C), (D) and (E) Only
Options:

878270162889. 1
878270162890. 2
878270162891. 3

878270162892. 4

Question Number : 113 Question Id : 87827041477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fferfaa § & @ fava % gaifis wurered wfea sem @i 2
(A) EreA fogeeni

(B) efasg are

(C) 4 |

(D) TR seHe

E) f=E

T fou o fasredl § 9 Q& SO &1 9949 FIfSU
(1) e (A), (B) 3R (E)

(2) W (A), (D) IR (E)

(3) I (A), (B) 3R (C)

(4) Fd (O), (D) 3R (E)

Options :

878270162889. 1
878270162890. 2
878270162891. 3
878270162892. 4

Question Number : 114 Question Id : 87827041478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Where was Headquarter of Azad Hind radio ?
(A) Germany

(B) South Africa

(C) Russia

(D) Singapore

(E) Rangoon

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (D) and (E) Only

3) (C€), (D) and (E) Only

(4) (A), (D) and (E) Only

Options:
878270162893. 1
878270162894. 2

878270162895. 3
878270162896. 4

Question Number : 114 Question Id : 87827041478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



arrere Tée et 1 qeme #el | W@ § 2
(A) A
(B) Gf&IUr 3TshIeRT

E) M

= feu U fasredi § 9 W SO 1 999 FIf9
(1) % (A), (B) &R (C)

(2) %9 (B), (D) iR (E)

(3) %9 (C), (D) ¥R (E)

(4) F (A), (D) R (E)

Options :

878270162893. 1
878270162894. 2
878270162895. 3
878270162896. 4

Question Number : 115 Question Id : 87827041479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which films belongs to the Germ an Expressionism film movement ?
(A) The cabinet of Dr. Caligan

(B) Vertigo

(C) Rashoman

(D) 400 Blous

(E) Destiny

Choose the correct answer from the options given below :

(1) (A) and (E) Only

(2) (A), (B) and (C) Only
(3) (C) and (E) Only

4) (C), (D) and (A) Only
Options:

878270162897. 1
878270162898. 2
878270162899. 3
878270162900. 4

Question Number : 115 Question Id : 87827041479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TH | % 9 fied sA sifusrsmere aafs siger 9 Hefud €2
(A) T Hfemz 3T . Fard

(B) afem

(C) WeIWHE

(D) 400 sATE

(E) eh=

T fou o fasredl § 9 Q& SO &1 9949 FIfSU

(1) 9 (A) 3R (E)

(2) o (A), (B) R (C)
(3) F= (C) R (E)
(4) ¥ (O), (D) 3 (A)
Options :

878270162897. 1
878270162898. 2
878270162899. 3

878270162900. 4

Question Number : 116 Question Id : 87827041480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following English Newspapers as per the chronologically increasing order of their
publication.

(A) The Tribune

(B) Indian Mirror

(C) The Times of India

(D) The Statesman

(E) The Hindu

Choose the correct answer from the options given below :

1) ©) ®) ) E) @)

@ (© (&) (D), B) (A

G
g

Options:
878270162901. 1
878270162902. 2

878270162903. 3
878270162904. 4

Question Number : 116 Question Id : 87827041480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SIS AR 3 ] YeRYH 9 o Fgd TU ICHRH & TR AT Ao ;
(A) = fgomd

(B) 3fedd

C) &I A gfe

T WA

E) 2]

e feu o fasredl § € W@ SO &1 =59 Ffe

) (©) (B), (D), (E), (A)

) 1

— — —
e

Options:

878270162901. 1
878270162902. 2
878270162903. 3

878270162904. 4

Question Number : 117 Question Id : 87827041481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the theories and models, in order of their year of beginning.
(A) Elaboration Likelihood Model

(B) Feminist Reception Studies

(C) Uses and Gratification Theory

(D) Joseph Klapper’s Phenomenistic Theory

(E) Gamsan Collective Action Frames

Choose the correct answer from the Dptinns given below :

(1) (A) (B), (©), (D) (E)

2) (©. (B), (D), (A), ()
(3)  (A) (D), ©) B) (£
(4) (D). (Q) (B), (A), (E)



Options :

878270162905. 1
878270162906. 2
878270162907. 3
878270162908. 4

Question Number : 117 Question Id : 87827041481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
= Targidl & Higel ol 3% SARY 81 % 94 o HHHHR Haferd Fif ;
(A) oo |eyrferr #igd
(B) HRIEEl ey 3eaEA
(C) 394 o gfdmo faghd
(D) SHE FAR F Ggfaek fagid
(E) 7oA grvfeek foran A

A1 e T fokredl # @ WE@ SR 6 =99 HIT
(1) (A, B), ©), D) (E)

2  (©), (B), (D), (A), (E)

(3)  (A) (D), ©) (B) (E)

4) (D) (©) (B), (A) (B)
Options:

878270162905. 1
878270162906. 2
878270162907. 3
878270162908. 4

Question Number : 118 Question Id : 87827041482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify the sequence of Radio broadcasting beginning from origin.
(A) FM

(B) AIR

(C) BBC

(D) Community Radio

(E) Internet Radio

Choose the correct answer from the options given below :

(1) (A), (©), (B), (D), (E)

2 (©). (A), (B), (D), (E)
(3) (B (O, (A), D) (E)
@ (©), (B), (A), (D), (E)

Options :

878270162909. 1
878270162910. 2
878270162911. 3

878270162912. 4

Question Number : 118 Question Id : 87827041482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e TR0 i ARY ¥ YE FW T STF T&l TR F TEdH HIf
(A) TRTH

(B) il gfean e
(C) ff it &
(D) WEIas fedn
E) 3 e
= feu v fomedi | @& SO 1 999 FIET
(1) (A, (©), (B), (D), (E)
2) (©), (A), (B), (D), (E)
3) (B), (O (A), (D), (E)
4) (©), (B), (A), (D), (E)
Options:

8782701629009. 1
878270162910. 2
878270162911. 3
878270162912. 4

Question Number : 119 Question Id : 87827041483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the correct chr DnDnglCElllV ascendmg order of these committees set up by by Government of
ndia.

I

[

(A) Kothari Committee

(B) Ashok Chanda Committee
(C) Hota Committee

(D) Joshi Committee

(E) Varghese Committee

Choose the correct answer from the oplions gi\f en below :

() ) () (&), 0) ©

@ (), (©) D) ®) @A)
(3) (&) (&), D) (), ()
(@) () (), E ) (©
Options:

878270162913. 1
878270162914. 2
878270162915. 3

878270162916. 4

Question Number : 119 Question Id : 87827041483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IRE GEER GRI Tenfud giafadi = s gan el Fewy ©

(A) HISH FHA
(B) T9Ie =gl HHE
(C) @ (Hota) FHe
(D) el FHE
(E) o1 sHe

A feu T ferpedi ® 9 @& 3T 1 =94 S
(1) (), (E) (A), D), (O

(2 (B), (Q), (D), (B), (A)

(3)  (E), (A), (D), (B), (O)

4) (B), (A), (E), (D) (C)
Options:

878270162913. 1
878270162914. 2
878270162915. 3

878270162916. 4

Question Number : 120 Question Id : 87827041484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the fnllowmg [Ureign News Agencies in accordance with the ascendmg order of their

establishment.
AP

) TASS
) Reuters
) UPI

E) AFP

Choose the correct answer from the options given below :
(L) (), (4), ©) ©) (B)

@ (), ) (A)
@ © B), (D)
@ © ) (D), (B)

(4)
B
(C
D
(

D)
(B) (D), (C
(A), (), (
(E), (4). ()

(©), (), (A)

Options:

878270162917. 1
878270162918. 2
878270162919. 3

878270162920. 4

Question Number : 120 Question Id : 87827041484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fageft gurem TSifadl =61 w9 1 %l g FH €
(A) T

(B) @

(C) Ty

(D) F.Hr.eme

(E) TURY

A= feu 7o fasredi § € 9 39 &1 994 S
(1) (E), (A), ©), (D), (B)

(2) (B), (B). (D), (O), (A

) )
(3 (©, (A) ([E), (B), (D)
4) (©), (B), (A), (D) (B)
Options:

878270162917. 1

878270162918. 2

878270162919. 3

878270162920. 4

Question Number : 121 Question Id : 87827041485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following newspaper according to the ascending chronological order of their year of
publication :

(A) Bengal Gazette
(B) Samvad Komudi
(C) Mirat-ul-Akbar
(D) Calcutta Journal
B

Choose the correct answer from the oplions gi\f en below :

) Brahamnical Magazine

() (4)(©) [©), () ()
@ () (4), ®), D) ()
(3) (&) D) @) ©) )
(@) () (), E ) (©
Options:

878270162921. 1
878270162922. 2
878270162923. 3
878270162924. 4

Question Number : 121 Question Id : 87827041485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



GHIER 301 %1 Y oY o 9@d B FICHRH o SN SHATEd hifa ;
(A) STA TS

(B) WS HIST
(C) TRIGH SEam
(

(

D) oehdl o4

E) wifarferel #rsie
= fou T fasredi § @ 9@ SO &1 9949 FifeU
(1) (A), (©), (D), (B), (E)

2) (©), (A), (B), (D), (E)
3) (A), (D), (B), (C), (E)
4) )

4)  (B), (A4), (B), D), (C

ad
T it g ™

Options:

878270162921. 1
878270162922. 2
878270162923. 3
878270162924. 4

Question Number : 122 Question Id : 87827041486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the chairpersons of Central Board of film Certification Board in chronological order, in
increasing order.

(A) BP. Singhal
(B)  Vikram Singh

(C) Asha Parekh

(D) Pahlaj Nihalani

(E) Prasoon Joshi

Choose the correct answer from the options given below :
(M) (), (4), € O) E

2 1
()
(4)

Options:
878270162925. 1
878270162926. 2

878270162927. 3
878270162928. 4

Question Number : 122 Question Id : 87827041486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



5 fiben TR A (CBEC) & el 1 376 FRIA o FIHHAER 960 g0 #1 ¥ oafem
T :

(A) @9, foa

(B) ferm e

(C) amE
(D) oo el
(E) S el

A fou T fomredl # B W@ TR T Fi
0 ©) (4), €, D) E

@ (A), (), (), ©) E)
®)  (®) (C), (A) D) €
() (A), (), [O), (B), (E
Options :
878270162925. 1
878270162926. 2
878270162927. 3

878270162928. 4

Question Number : 123 Question Id : 87827041487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the fﬂllnwing in a:&cending du‘onnlogjcal order of their evolution.

(A) Dish T.V.

(B) Audio-Visual Cassette
) Cable T.V.

(D) Video Tape Recorder
(E) HD Television

() (A) (B), D) {  (B)
(2 (B), (D) (A), (B) (©)
3)  B), (D) (©) (A) (E)
(4) (D) (B) (A), (E) (O
Options:

878270162929. 1
878270162930. 2
878270162931. 3

878270162932. 4

Question Number : 123 Question Id : 87827041487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

971 % 3IgWa 1 FIHRATIER ed ¢ sFH H ST ;
(A) Tewr 2l

(B) ifsal fassra e

(C) Haa i

(D) difedr 29 Rerret

(E) ToE I

A fou U fomredl # | W&l 3T 1 = HifT
(1) (A) (E), (D), (O), (B)

2 (B), (D), (A), (E), (O)
3) (B)f (D), (O, (A), (E)
)

(
(4) (D) (B), (A), (E), (O



Options :

878270162929. 1
878270162930. 2
878270162931. 3
878270162932. 4

Question Number : 124 Question Id : 87827041488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following Acts in increasing chronological order :
(A) Dramatic Performance Act

(B) Police (Incitement to Disaffection) Act

(C) Criminal Law (Amendment) Act

(D) Customs Act

(E) Official Secrets Act

Choose the correct answer from the options given below :

() (B), (E), (O (D), (A

)
(2)  (A), (B), (E), (©O), (D)
(3) (E), (©) (B), (A), (D)
4) (©. (A), D), (B), (E)

Options:

878270162933. 1
878270162934. 2
878270162935. 3
878270162936. 4

Question Number : 124 Question Id : 87827041488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafaa anfuf=mi = aed e %0 ¥ fafau .
(A) SMfEFR WHEHT T
(B) Ufet® (Surgedz 2 feusrtenH) TR
(C) Torfaa of stHete U
(D) FEHTE
(E) AifwivEe dishey TR
A= feu 7o fasredi § € 9 39 &1 994 S
(1) (B), (E), (C), (D), (A)
(2) (A), (B), (E), (©), (D)
(3) (E), (O, (B), (A), (D)
4) (©), (A), (D), (B), (E)
Options:
878270162933. 1
878270162934, 2
878270162935. 3

878270162936. 4

Question Number : 125 Question Id : 87827041489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological arder of the following Communication Theories.
(A) The Cultivation Theory
(B) Personal Influence Theory
(C) Agenda Setting Theory
)

(D) Uses and Gratification Theory

(E) Knowledge gap Theory

Choose the correct answer from the options given below :
(D) (B), (A), D), (E) (O

(2) (), (D) (4), (E), (©)

(3) (D), (A), (), (B) ()

(4) (D) (A), B), (C) (E)



Options :

878270162937. 1
878270162938. 2
878270162939. 3
878270162940. 4

Question Number : 125 Question Id : 87827041489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
(A) HauH (HedtawH) fagid
(B) <fadek yura fagia
(C) ==ty fagid
(D) W g ufaor fagia
(E) M A fagra
A fou TTu fomredl # | Wl 3T 1 = HifT
(1) (), (A), (D), (B), (O
(2)  (B), (D) (A), (E), (C)
(3) (D) (A), (B), (B), (C)
4) (D) (A), (B), (O) (E)
Options :
878270162937. 1
878270162938. 2
878270162939. 3
878270162940. 4

Question Number : 126 Question Id : 87827041490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
Component Type
(A) Laser Printer (I)  External storage device
(B) Mouse (I)  Input device
(€) 512 GB hard drive (III) Output device
(D) ROM (IV) Internal memory

Choose the correct answer from the options given below :

(1) (A1), (B){1), (©-@), (D)-1V)

(2) (A1), (B)-(I), (C)-(I), (D)-(IV)
(3) (A, (B)-(IV), (C)-(T), (D))
4)  (A)-IV), (B)-(1D), (O)-(I), (D))

Options :

878270162941. 1
878270162942. 2
878270162943. 3
878270162944. 4

Question Number : 126 Question Id : 87827041490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



eI | -1 1 e it

Tell-1 eit-11
HZHh T
(A) < U () el YR i
(B) HISH () 39 feomd (yfafe gfew)
(C) 512f =t e gra (1) s3eye fearsy (frw gf)
(D) &R 37 TH (IV) 3tiafer JHr
9= fou o fowedi § O W& S T F9Q ;
(1) (A1), (B)ID, (C)-(1), (D)-(IV)
(2)  (A)AD, (B)-(II), (C)-(I), (D)-(IV)
(3) (A1, (B)-(IV), (O)-(1), (D))
@) (A)AIV), (B)-(II), (O)-(1), (D)~(II)
Options :

878270162941. 1
878270162942. 2
878270162943. 3

878270162944. 4

Question Number : 127 Question Id : 87827041491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
State Dance form
(A) Kerala (I)  Sattariya
(B) Assam (II) Kuchupudi
(C) Andhra Pradesh (IlT) Lavani
(D) Maharashtra (IV) Kathakkali

Choose the correct answer from the options giv en below :

(1) (A)-(1V), (B)-(D), (C)-(IT), (D)~(IM)

(2)  (A)(IV), (B)(D), (C)-(LI), (D)-(IT)
(3)  (A)-(I), (B)-(IV), (C)-(I), (D)-(II)
(4)  (A)-(D), (B)-(IV), (C)-(ILL), (D)~(IT)
Options :

878270162945. 1
878270162946. 2
878270162947. 3

878270162948. 4

Question Number : 127 Question Id : 87827041491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 G-I = e sife
-1 E(t-11

B | I ®U
(A) T () Hag
(B) /A (I Ffeget
(C) 371 9o (IIT) e
(D) HENTZ (IV) Ul

= feu 7o foredi § | W& I 1 = ST
() (A)HIV), (B)-(I), (C)-(II), (D)-(IL)

(2)  (A)-(IV), (B)-(D), (C)-(ILL), (D)~(ID)

() (A)-D), (B)-(IV), (C)-(II), (D)-(IIL)

(4) (AL, (B-(1V), (C)-(IL), (D)-(IT)

Options :

878270162945. 1

878270162946. 2

878270162947. 3

878270162948. 4

Question Number : 128 Question Id : 87827041492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 1L

List - I List - II
Newspaper Tag line
(A) The Washington post ()  All the News, All in one place
(B) The Guardian (II) Democracy dies in darkness
(C) The wall street Journal (If) The daily diary of the American dream
(D) USA Today (IV) The whole picture

Choose the correct answer from the options given below :
1) (A)AII), (B)-(I), (C-(IV), (D}(IT)
2) (A1), (B}-(IV), (C)-(I), (D))
3) (A1), (B)-(II), (CHIV), (D)-(I)
3 )

(
(
(
(@) (AHIV), (B, (O-(), (D)1

(
)
)
Options :
878270162949. 1
878270162950. 2
878270162951. 3

878270162952. 4

Question Number : 128 Question Id : 87827041492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et-19 Ga-11 =1 e s
Tdt-1 THt-11

TSN U ERIC IS |
(A) T ST 9 () ofid T I e 37 99 ©F
(B) @ foiz (I) SHERE e1Ed 3 gsE
Q) T A B T () T <t eEl 31 € R SH
(D) ZUHTZE (IV) 2l foeer
9 feu Tu fosmedi § © WE SO H =T FIWC
(1) (A)-(Im), (B)-I), (CH(IV), (D)-(II)
(2)  (A)(II), (B)-(IV), (O)-(I), (D)-(I)
(3)  (A)-(D), (B}-(III), (C}(IV), (D)-(II)
@) (A)-IV), (B)-(II), (C)-(I), (D))
Options :

878270162949. 1
878270162950. 2
878270162951. 3

878270162952. 4

Question Number : 129 Question Id : 87827041493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.
List - I List - II
Theorist Theories of Mass Comm.
(A) George Gerbner
(B) Marshal Mcluhan
(C) Harold Lasswell
(D) Paul Lazarsfeld, Bernard
Berelson, Gaudet Hazel

(I)  Two step flow theory

(If)  Hypodermic needle theory
(IlI) Cultivation theory

(

IV) The Medium is the message

Choose the correct answer from the nptiuns g'w en below :

(1) (A)-D, B)-IV), (C)-(D), (D)-{1)

(2)  (A)-(0), (B)-(IL), (C)-(IV), (D)-(1T)
(3) (AN, (B)-(IV), (OID), (D)-(1)
@) (A1), (B)-(1), (O)-(I), (D)-V)

Options:

878270162953. 1
878270162954. 2
878270162955. 3
878270162956. 4

Question Number : 129 Question Id : 87827041493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teft-1 9 eft-11 =1 fiefr i
Telt-1 Tefl-11

(A) TSI TR ) e o fagia (2 @ vl e

(B) WRIc HaEH (I) smwamg g5 fagi (geurefis Hea @r)

Q) e T (L) HaA g (shedtan fagid)

(D) e T BT, S (IV) wieam & Heu & (Hiferm 39 3 H)
I{eEH, TMEE Bel

et o Tu foekedi # @ WE SO B 99 o ;

(1) (A1, B)-(Iv), (O, (D)-(T)

(@) (A)HD, B}, (CHIV), D)-(I)

(3) (A, (B)-(IV), (C-{11), (D)-([)

(4) (A, (B)-(1), (C)(II), (D}-(IV)

Options :

878270162953. 1
878270162954. 2
878270162955. 3

878270162956. 4

Question Number : 130 Question Id : 87827041494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Major company House Journal
(A) Bank of India (I) YOURS
(B) Hindustan Lever Ltd. (I) The Teller
(C) Mahanagar Telephone (IIT) Hamara
Nigam Ltd.
(D) Indian Iron (IV) Antarang

Choose the correct answer from the options given below :
(1) (A1), (B)-(II), (O)~(I), (D)-(IV)

(2) (A1), (B)-(l1), (C)-(I), (D)-(IV)

3) (A)-ID), (B)-(IV), (O)-(I1I), (D)-(I)

(4) (A)-(I), (B)-(I11), (C)-(IV), (D)~(I)

Options:

878270162957. 1

878270162958. 2

878270162959. 3

878270162960. 4

Question Number : 130 Question Id : 87827041494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .

-1 -1
T SOt T3 T

(A) o S e o M

(B) TegEam wiier Tl () & e

(C) WEMTR TAT®H TR fa (IlT) BHF

(D) sfeaa A (IV) ST

= feu 7o foredi § | W& I 1 = ST
() (A)D), (B)-(L), (C)-(I), (D)-(IV)

(2)  (A)-(ID), (B)-(ILT), (C)~(I), (D)-(IV)

(3) (AL, (B)-(IV), (O)-(I1L), (D)-(I)

(4) (A1), (B)-(), (©)-(IV), (D)-(I)

Options :

878270162957. 1

878270162958. 2

878270162959. 3

878270162960. 4

Question Number : 131 Question Id : 87827041495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

List - I List - 11
Definition Author
(A) Advertising is salesmanship in print (I)  Bob Isherwood
(B) 'Advertising as a substitute of (II)  Sidney Bemnstein

human salesman’
(C) ‘Advertising is any paid form (II) John E. Kennedy
non-personal presentation of Idea,
goods and servicing by an identified sponsor’
(D) ’An advertisement in bornout of selling an  (IV) AMA
idea that has been seen somewhere it is how
well the idea is sold that makes the difference’

Choose the correct answer from the options given below :

(1) (A, B)-D, (©)-(), (D)}-(IV)
(2) (A, (BHID, (O-(V), (D)-(D)
() (AHD), (BHL), (O-1), (D)-V)
(4)  (AHIV), (B)(D), (C)-(I), (D)-(IM)
Options:

878270162961. 1
878270162962. 2
878270162963. 3

878270162964. 4

Question Number : 131 Question Id : 87827041495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A1), (B)-(), (©)-1), (D)-(IV)
(2) (A)II), (B)(ID, (C)-1V), (D)-(1)
(3)  (A)HI), (B)-(ID), (C)(I), (D)-(IV)
@) (A)HIV), (B)HD), (CH(W), (D))
Options:
878270162961. 1
878270162962. 2
878270162963. 3

878270162964. 4

Question Number : 132 Question Id : 87827041496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Producer Programme
(A) Sayid Mirza (I) Rajni
(B) Basu Chatterjee (II) Bharat Ek Khoj
(C) Govind Nihlani (IlT) Tamas
(D) Shyam Benegal (IV) Nukkad

Choose the correct answer from the options giv en below :

(D) (A)II), (B)(L), (C)-(IV), (D)-(IT)

(2)  (A)(IV), (B)(D), (C)-(LI), (D)-(IT)
(3)  (A)-(IV), (B)-(1I), (C)-(ILT), (D)-(I)
(4)  (A)-(D), (B)-(I), (C)-(I), (D)-(IV)
Options :

878270162965. 1
878270162966. 2
878270162967. 3

878270162968. 4

Question Number : 132 Question Id : 87827041496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) Heg st () T
(B) g =it () 9RE TF Gl
(C) e Feetr i () 99
(D) ¥ATH ST (Iv) TS

= feu 7o foredi § | W& I 1 = ST
() (A)I), (B)-(1), (O)-(IV), (D)-(IT)

(2)  (A)-(IV), (B)-(D), (C)-(ILL), (D)~(ID)

(3)  (A)-IV), (B)-(1D), (CO)-(I1L), (D)-(D)

(4) (AL, (B)-(I), (O)-(I), (D)-(IV)

Options :

878270162965. 1

878270162966. 2

878270162967. 3

878270162968. 4

Question Number : 133 Question Id : 87827041497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Thinkers Works
(A) Pandit Deendayal Upadhyay  (I) Sat Krantiyan
(B) Lokmanya Tilak (I} Federation versus Freedom
(C) Dr. Bhimrao Ambedkar (I) Bhartiya arht neeti ka Awmoalyan
(D) Dr. Ram Manohar Lohiya (IV) Geeta RahasYa

Choose the correct answer from the options bwen below :

(1) (A, (B)-(), (C(L), (D)-(IV)
(&) (AHI), B)-IV), (C)-{1), (D)D)
(3) (M), (B)-(ID), (C)-(1V), (D)-(I)
(4) (A, (B)-(1V), (OHIT), (D)-(0)
Options :

878270162969. 1
878270162970. 2
878270162971. 3

878270162972. 4

Question Number : 133 Question Id : 87827041497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A1), B)1), (O-(L), (D)-({V)

(2) (A1), B)-IV), (O)-(I), (D))
3) (A, (B)-(ID), (O-1V), (D)-(0)
(4) (A, (B)-(IV), (O-(11), (D)-(D)
Options :

8782701629609. 1
878270162970. 2
878270162971. 3

878270162972. 4

Question Number : 134 Question Id : 87827041498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - 11
Communication Medium Foundation Year
(A) Twitter () 2009
(B) Pinterest (If) 2006
(C) Instagram (IIT) 2011
(D) Snapchat (IV) 2010

Choose the correct answer from the options giv en below :

(1) (A)-(D), (B)-(IT), (C)-(IL), (D)-(IV)

(2 (A1), (B}-(IV), (C)-(I), (D)-(II)
(3)  (A)-(1D), (B)-(), (C)-(IV), (D)-(T)
(4) (A)-(ID), (B)-(I), (C)-(IV), (D)-(1I)
Options :

878270162973. 1
878270162974. 2
878270162975. 3

878270162976. 4

Question Number : 134 Question Id : 87827041498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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= feu o fosredi § | W& I 1 = i
() (A)D), (B)-(I), (C)-(I), (D)-(IV)

(2)  (A)-(D), (B)(IV), (C)(IT), (D)~(IIT)

(3) (A0, (B)-(ILD), (©)-(IV), (D)-(D)

(4) (A1, (B)-(I), (O-(1V), (D)-(II)

Options :

878270162973. 1

878270162974. 2

878270162975. 3

878270162976. 4

Question Number : 135 Question Id : 87827041499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Advertisement related Act. Year
(A) Consumer Protection Act (I) 1955
(B) The Drug and Magic remedies Act (II) 1986
(C) Essential goods Act (I) 1950
(D) Sign and Name Act (IV) 1956

Choose the correct answer from the options giv en below :

(1) (AL, (B)-(1), (O)-(1V), (D)-(IL)

(2)  (A)-(ID), (B)-(IV), (C)-(I), (D)~(II)
(3)  (A)-(I), (B)-(IV), (C)-(I), (D)-(II)
(4)  (A)-(D), (B)-(IT), (C)-(I), (D)-(IV)
Options :

878270162977. 1
878270162978. 2
878270162979. 3

878270162980. 4

Question Number : 135 Question Id : 87827041499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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= feu v fasredi § § 98 I F1 =94 S
(1) (A1), (B)-(I), (C)~(IV), (D)~(1L)
(2) (A1), (B)-(IV), (O)-(I), (D)~(IL)
(3)  (A)-(I), (B)-(IV), (C)-(1), (D)~(I1IL)
4) (A)D), (B)}-(II), (O)~(IL), (D)-(IV)

Options :

878270162977. 1
878270162978. 2
878270162979. 3

878270162980. 4

Question Number : 136 Question Id : 87827041500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : In the present times website is the identity of an organization on the global level,

Statement (II) : Website has not been successful in directly connecting any organization and clients
mutually.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3

(

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect



Options :

878270162981. 1
878270162982. 2
878270162983. 3
878270162984. 4

Question Number : 136 Question Id : 87827041500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270162981. 1

878270162982. 2

878270162983. 3

878270162984. 4

Question Number : 137 Question Id : 87827041501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : 'Press Council Act 1976 was repealed by Press Council Act Repeal ordinance.

Reason (R):  Press Council was dissolved because according to the Government it failed in
fulfilling its responsibilities.

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) s true but (R) is false

(4) (A)is false but (R) is true

Options:

878270162985. 1

878270162986. 2

878270162987. 3

878270162988. 4

Question Number : 137 Question Id : 87827041501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162985. 1



878270162986. 2
878270162987. 3

878270162988. 4

Question Number : 138 Question Id : 87827041502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) :  As compared to AM channel, FM channel has a much wider range.
Statement (II) : Asaresult of its reach in a limited area, more people get connected to FM channel,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true

2)  Both Statement I and Statement I are false
3

4) Statement I is false but Statement II is true

(
(3)  Statement I s true but Statement II is false
(

Options :

878270162989. 1

878270162990. 2

878270162991. 3

878270162992. 4

Question Number : 138 Question Id : 87827041502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270162989. 1
878270162990. 2

878270162991. 3

878270162992. 4

Question Number : 139 Question Id : 87827041503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : The internet culture identifies a number of different subcultures.
Reason (R): It does not contribute collectively to the direction of the online environment.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270162993. 1

878270162994. 2

878270162995. 3



87827016299%6. 4

Question Number : 139 Question Id : 87827041503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162993. 1

878270162994. 2

878270162995. 3

878270162996. 4

Question Number : 140 Question Id : 87827041504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : Face validity is probably the weakest way to find out the validity of the
measurement instrument for a research.

Statement (II) : Construct validating is a validation process of construct by existing conceptual ot
theoretical bases through statistical analysis.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement II are true
2)  Both Statement I and Statement 11 are false
3

4)  Statement I is false but Statement Il is true

(
(3) Statement I s correct but Statement II is false
(

Options:

878270162997. 1

878270162998. 2

878270162999. 3

878270163000. 4

Question Number : 140 Question Id : 87827041504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162997. 1



878270162998. 2
878270162999. 3

878270163000. 4

Sub-Section Number : 2
Sub-Section Id : 8782701735
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827041505 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following passage carefully and answer the question.

The credit for bringing India on the global film map goes to Sayajit Ray Indian films got
appreciation only after Appunai; Pather Panchali, Apoor Sansar (1955-29).

“Oh, Films are made in India too” was the surprising reaction in the west after watching
Pather Panchanli. At that time i.e. 1958 Japan alone was ahead of India. 316 films were made in
Japan while India had 295 films. In America 288 films were produced, 137 in Italy and 187 in
France. Ritwik Ghatak, Mrinal Sen, Arvindam and Shyam Bengal gave a new form to films.

Cinema arrived in Asia and India simultaneously with Russia and America. The day its first
show was organised in the Watson Hotel, Bombay the same day it was shown in Russia as well.
Subsequent to the efforts of Luminaire brothers, a race begun world wide for film making. India’s
Harishchandra Sakharam Bhatwedkar alias Savedada bought a movie camera in 1876 itself. For
the first time he shot a wrestling scene in Hanging Garden Hiralal of Calcutta began filming stage
plays.

Film advertisements of Alibaba, Gautam Buddh, Sitaram and other plays used to be published
in Amrit Bazar Patrika. |.]. Madan from Calcutta screened films brought from America, Italy and
England for the residents of Calcutta while filming domestic plays as well. Madan is known as
this country’s first Film distributor and also the owner of Shokia Cinema House.

Subsequent to these efforts, Indian filmmakers began producing films on domestic topics.
Ram Chatles Pathe opened a branch of his company in Bombay for film production and screening
instruments. In 1899, Charles Urban from Newyork’s Kayenema colour company produced a
film titled ‘Dilli Durbar’ in India. This was the first time in India. This was the first time any
foreigner produced a film in India.

Sub questions



Question Number : 141 Question Id : 87827041506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which foreigner produced the first film in India ?
(1) Satyajit Ray

(2) F.W. Moornao
(3) Charles Urban
(4) Akira Kurasowa
Options :

878270163001. 1
878270163002. 2
878270163003. 3
878270163004. 4

Question Number : 142 Question Id : 87827041507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sawedada shot a scene of which sport for the first time ?

(1) Kho Kho

(2) Cricket

(3) Football

(4) Whrestling
Options :

878270163005. 1
878270163006. 2
878270163007. 3
878270163008. 4

Question Number : 143 Question Id : 87827041508 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who glorified India’s name on the global film map ?
(1) Mrinal Sen

(2) Satyajit Ray

(3

)} Arvindan
(4) Shyam Benegal

Options :

878270163009. 1
878270163010. 2
878270163011. 3

878270163012. 4

Question Number : 144 Question Id : 87827041509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When did 1'egular film screening begin in India ?

(1) 1901
(2) 1907
(3) 1958
(4) 1968

Options :

878270163013. 1
878270163014. 2
878270163015. 3

878270163016. 4

Question Number : 145 Question Id : 87827041510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Who is credited with screening of western films for the residents of Calcutta ?
(1) Ritwik Ghatak

(2) ].J. Madan

(3) Ram Pathe
(4)

4) Satyajit Ray

Options :
878270163017. 1
878270163018. 2

878270163019. 3

878270163020. 4

Question Id : 87827041505 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827041506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T fogyit =afem gr1 wva § el frem o w7t 2
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(3) e e
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Options :

878270163001. 1

878270163002. 2

878270163003. 3



878270163004. 4

Question Number : 142 Question Id : 87827041507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

EERl A gee ar fRe @ 1 399 fwerifed fwan ?

(1) @@
() frwe
(3) Wﬁ?’f
(4) Pl
Options :

878270163005. 1
878270163006. 2
878270163007. 3

878270163008. 4

Question Number : 143 Question Id : 87827041508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gf o fored! a9t § 9 o1 T foRee I TR ?
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Options:

8782701630009. 1
878270163010. 2

878270163011. 3



878270163012. 4

Question Number : 144 Question Id : 87827041509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e H frafha w9 & firedl =1 yeeiH % gy 831 ?

(1) 1901
(2) 1907
(3) 1958
(4) 1968
Options :

878270163013. 1
878270163014. 2
878270163015. 3

878270163016. 4

Question Number : 145 Question Id : 87827041510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ferh AT qfvem % <ui %1 fren feam @1 99 fme S €2

(1) ki Heh

(2) .Sl HEH

(3) TW 9

(4) HISd T4
Options:

878270163017. 1
878270163018. 2
878270163019. 3

878270163020. 4
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: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the following passage carefully and answer the question.

The core argument of "Hind Swaraj’ in its message was to bring reform in the country’s
political life as Gandhi had been refining and sharpening his intellectual oratory as a weapon of
resistance against the their political challenges. For him unity of an active life and intellectual
energy was a desired hypothesis.

Unity in diversity is the foremost characteristic feature of Indian culture and thought. It
propagates unity while ascending dissensions and talks about a society which is not pyramidical
in height but a spreadout society forever expanding in width like oceanic circles. "Hind Swaraj
describes this very feature of Indian culture, displays the Indian villages as social walls and narrates
the merits of cultural self confidence. Full of human emotions, "Hind Swaraj'is a political statement
and the problems mentioned therein have acquired gigantic proportions today and forcefully
advocates implementation of the solution presented in this booklet

Certain situational or the then prevailing principles and measures adopted by Gandhii, like
- the spinning wheel, fasting, etc. may appear irrelevant and outdated in the modern times, but his
thoughts, continues striving for truth, emphasis on cooperative social system and essential universal
elements implicit in opposing injustice and atrocities have been meaningful and shall remain so for
all those individuals and nations who want a better and civilized life.

Sub questions

Question Number : 146 Question Id : 87827041512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the foremost characteristic feature of Indian Culture ?
(1) Unity in diversity
(2) Nation landing on the southern pole of moon

"
(3

) Cultural self confidence
(4) Developed nation

Options:

878270163021. 1
878270163022. 2
878270163023. 3
878270163024. 4

Question Number : 147 Question Id : 87827041513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Core argument of ‘Hind Swaraj’ was
(1) Mahatma Gandhi

(2) Indian Culture

(3) Human emotions

(4) Reform in political life
Options :

878270163025. 1

878270163026. 2

878270163027. 3

878270163028. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Instead of rising verij{:all}r, how is the Indian Snciet}r exp;mdjng ?
(I) In pyramidical circles
(2) In oceanic circles

(3) It is constricting
(4) In energised circles
Options:

878270163029. 1
878270163030. 2
878270163031. 3

878270163032. 4
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Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Which of the following principles was adopted by Gandhiji ?

(1) Fasting - Violence

(2) Non violence - Spinning wheel

(3) Spinning wheel - Silence

(4) Spinning wheel - Fasting
Options :
878270163033. 1
878270163034. 2
878270163035. 3

878270163036. 4

Question Number : 150 Question Id : 87827041516 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the hypothesis of ‘Hind Swaraj’ ?
(1) Cultural self confidence

(2) Effort to reform the political life
(3) Human emotions

(4) Just behaviour

Options :

878270163037. 1

878270163038. 2

878270163039. 3

878270163040. 4
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Question Number : 146 Question Id : 87827041512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

WRATd HEhid Tl oy €] fograr =1 @ ?
(1) Tafasar § wehal

(2) g % &0 YE T I AT T
(3) Wik AreHfavas

(4) TerRrEd T
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878270163021. 1

878270163022. 2

878270163023. 3

878270163024. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fég TR w1 HEE TF o |
(1)  weren Wi
(2) YRATT GGRfa
(3) HFEE HagAl
(4) TSI Sied H guR
Options :

878270163025. 1
878270163026. 2
878270163027. 3

878270163028. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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(1) foufee g9 = wen

Options :

878270163029. 1
878270163030. 2
878270163031. 3

878270163032. 4
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878270163033. 1
878270163034. 2
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